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Question Number : 1 Question Id : 5038905433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

E1.6A, 12.5E, M3.61, Q4.90 , ?
Options :

1. ¥ U6.4U

2. % H6.4X

3. ®# M6.4G

4. % M6.4U

Question Number : 1 Question Id : 5038905433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau e fawmed & 9, 30ft # g ue &) 31d Y

E1.6A, 12.5E, M3.61, Q4.90, ?
Options :

1. ¥ U6.4U

2. % H6.4X

3. % M6.4G

4, % M6.4U

Question Number : 2 Question Id : 5038905434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option whose letters, when arranged from left to right in the below series, will complete the series logically.

T K O TT K R _
Options :

1. ¥ OOKRRRKOT

2. % ORORORKOR

3. ¥ ORKKRRKOT

4. ¥ ORKRORKOT

Question Number : 2 Question Id : 5038905434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 39 fadey &1 g7 o 31eR 519 aN-¥-ad =iid &1 Tt gl & STal o o) 98 4@l dlichdh &0 9 IR1 81 Sev |

T K O TT_ _K_ R_
Options :

1. # OOKRRRKOT

2. % ORORORKOR

3. # ORKKRRKOT




4. ¥ ORKRORKOT

Question Number : 3 Question Id : 5038905435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is unrelated (or odd one out amongst) the given set of words.
Options :

1. # Autopsy

2. % Biopsy

3. ¥ Leprosy

4. ¥ Necropsy

Question Number : 3 Question Id : 5038905435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fawed & g, ot 3T T Treg! & Wig ¥ Sraferd (@1 34 3 fav §) 82
Options :

1. % g URIar

2. % Hdd Bl A

3. ¥ PRI

4. % oIl

Question Number : 4 Question Id : 5038905436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Knowledge : Awareness
Options :
1. # Painting : Painter

2. # Disease : Doctor



3. % Game : Player

4. % Bacteria : disease

Question Number : 4 Question Id : 5038905436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faeed &1 99 Y, o aw Wreg] &1 3109 H 9] 9ay &, St daey -1 3T 71U o4 & Wsal & a9 5|

T : ST b dl
Options :

1. % Ofdy. g

2. % 7 : Fafb®
3.”@?[:@?]’@
4. ¢ Stary] : SR

Question Number : 5 Question Id : 5038905437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

ROME : VROF : : TURN : ?
Options :

1. ¥ XXTO

2. % YYZX

3. % RROQ

4. % DCCC

Question Number : 5 Question Id : 5038905437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefaRad A, fou e foweui # O Jafdd sierl &1 999 B

ROME : VROF : : TURN : ?



Options :

1. ¥ XXTO
2. % YYZX
3. ¥ RROQ
4. % DCCC

Question Number : 6 Question Id : 5038905438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'INTESTINE' is written as "TNITSEENI'. How will 'FREQUENCY' be written as in that language?
Options :

1. ¥ ERFEUQYCN

2. % ERFUEYQCN

3. ¥ REFEUQYNC

4. % QESEUENCT

Question Number : 6 Question Id : 5038905438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaft fAf3d B U &, 'INTESTINE' &1 'TNITSEENT' & %0 ¥ foRaT SITdT 8 1 39 HTHT H 'FREQUENCY' &1 & ferar S
Options :

1. ¢ ERFEUQYCN

2. % ERFUEYQCN

3. % REFEUQYNC

4. % QESEUENCT

Question Number : 7 Question Id : 5038905439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 girls (G, Gy, G3, G4) and 3 boys (B, By, B3) are to sit for a dinner such that no two boys should sit together nor two girls. If they are sitting
successively in this order, what is the position, respectively, of B2 and G3?

Options :



1. # 3rd and 4th
2. ¥ 4th and 5th
3. % 5th and 6th
4. % 2nd and 3rd

Question Number : 7 Question Id : 5038905439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4SBT (G, Gy, G, Gy) 3R 3 TSP (B, By, By) R B ST UBR 93 & b D13 1Y €1 oTgdp 1 7t 934 & iR 1 81 <Y Asfopar| afg
98 IRI-aR ¥ 934 &, A B2 3R G3 BT HH: VI FT R

Options :

1. % TR SR AT

2.« YT 3R Uf=rat

3. % 537 3R 6af

4. % IR 3R IRRT

Question Number : 8 Question Id : 5038905440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q is the father-in-law of U's mother. P is the only brother of G. D is the father of U. D has a sister, whose mother is T. Q has only one daughter
who is R. How is G related to D?

Options :

1. # Sister

2. ¥ Wife

3. % Sister-in-law
4. * Brother

Question Number : 8 Question Id : 5038905440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QUBHIBI IR EIP,GHIHAAHERID, U TUA I DHI Th S8 ¢, SRBI HI T8 QI TH gl T g, ST R €1 G, D I fbw
YR &R 87



Options :
1. ® dg-
2. ¢ Udl
3. % ynft/ SIS/ GaRHT / Tett
4. % g

Question Number : 9 Question Id : 5038905441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
No place is peace.
Some peace is plate.

Options :

1. ¥ Some peace is plate
2. # Some plate is place
3. % All place is plates

4. # Some place is plate

Question Number : 9 Question Id : 5038905441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H, &l H3F & 916 fawedl & IR Fpd QU MU &1 Siue! T 7T Sl &1 I A1 6, HAl 81 d Jawnd adl o g Ui
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Options :

1. ¥ $3 Ud, W g



2. % P e, Y §
3. % G ®IF, @ 8
4. % $Y WM, WL §

Question Number : 10 Question Id : 5038905442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are three statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:

All Strong are weak.
Some weak are Tigers.
All Tigers are Sharp.

Conclusions:
I. Some Strong are Sharp.
II. No Strong is Sharp.

Options :

1. % If only conclusion I follows

2. % If only conclusion II follows

3. ¥ If either conclusion I or II follows

4. % If neither conclusion I nor II follows

Question Number : 10 Question Id : 5038905442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T 70 U= § F B 3R IS 916 &l (shs faU U § | 30! faU T HU1 &1 9 AT g Yl 81 d Gad a9 3 fU= eiid g1
gt uft frseruf 1 ufeu bR g wifore fs fou e fsw el & 1 1 dhTiTd U T 3IIR0I BT §, I8 Jd1d 9 $o i 8|

HY:

gt IeIa, FHGR B |
$E HHSR, A G|
Tt a9, AT B




sy

. $© gAaH, a9 g |

1. BYS ST, ol Tel 8

Options :

1. % g Pad FIpy 190 B

2. % gt Had sy 19T B

.7 aieard ey 1o n g ®

4. % gieadifspd I siRTITnIas

Question Number : 11 Question Id : 5038905443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statements:
R>S>T;R>F>B.

Conclusions:
I.B>S
ILF<T

Options :

1. % Only I is true

2. % Only IT is true

3. # Both I & II are true

4. ¢ Neither I nor II is true

Question Number : 11 Question Id : 5038905443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Uy & Sy # AN srgual & o9 Ty BT ST T § | HUT P §I¢ &l Fhy QT TU § | 3T U Y= & YR R fFshsf o1
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R>S>T;R>F>B.

fpy:
I.B>S
ILF<T

Options :

1. % Had 19§

2. % AT NI g

3. % (SR TII®

4. SANIRACTUITG

Question Number : 12 Question Id : 5038905444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[3 b 3 3 b < b

If “+’ means ‘+’, ‘-~ means ‘x’, ‘<’ means ‘- and ‘+’ means ‘+’, which of the following will be the value of expression.

16+8—-4+2x4=7
Options :
1. % 16
2.9 28
3. % 32
4. % 44

Question Number : 12 Question Id : 5038905444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g+ BT 2, BT x, o BT 3 = 3R = BT 3 4 5, A Fmferied & § SH-91 fadhey IS &1 94 ghm|

16 +8—-4+2x4="?
Options :
1. # 16
2.9 28
3. % 32




4. % 44

Question Number : 13 Question Id : 5038905445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

1,2,3,5,7,9, 11,13, (?)
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.23

2.15

3.17

4.21

Question Number : 13 Question Id : 5038905445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 <t et 9oR o e ket I He
1,2,3,5,7,9, 11, 13, (?)
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.23

2.15

3.17

4.21



Question Number : 14 Question Id : 5038905446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following venn diagram and answer the question asked. How many people play either Cricket or Hockey?

Cricket Hockey
fio
(X

Football

Options :
1. % 110
2. % 115
3.9 125
4. % 120

Question Number : 14 Question Id : 5038905446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fau 97 Sepfa o1 sreage SIS 3R e T aTd &1 S1aTd giford, 399 3 fohc= @il fohdse a1 8idh! Wald g2
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Options :
1. % 110
2. % 115
3.¥ 125
4. % 120

Question Number : 15 Question Id : 5038905447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Mirror, lens, spectacles
Options :

@3




@D
O

Question Number : 15 Question Id : 5038905447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 HIHTA B ggaH off feu T4 AORN & o el &) Jad 3/ 9 gl & |

Options :

@3

4.9
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Question Number : 16 Question Id : 5038905448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Geeta starts walking in the north direction and after walking some distance she took a left turn followed by a right turn. After that she took two
consecutive left turns, now she is walking in which direction?

Options :
1. ¥ South
2. # North
3. % East
4. ¥ West

Question Number : 16 Question Id : 5038905448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T IR o= & Te1 & Bl § 3R $S g I & 1 39 U 911 A1S o, I SR 98 &l¢ Gl 6 | 3P a1 98 AR &l
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Options :
1. ¢ cfgor
2. % W
3. % ud

4. % gigH

Question Number : 17 Question Id : 5038905449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.

Question figures:

1O | @

Options :
1.
2. ®




Question Number : 17 Question Id : 5038905449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy @, faT T ol O IafRid siefd & 99 &1
e FF o

O P

Options :
1. #
2. %

3.¢




Question Number : 18 Question Id : 5038905450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question figure:

A

Options :

1. ¢

L
s




Question Number : 18 Question Id : 5038905450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHIF-T IR 3MHTA, U 3P & e d &l I B
TR AT :

Options :

1. ¢

Question Number : 19 Question Id : 5038905451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?



Options :
1. % 4
2.%3
3.% 6
4.5

Question Number : 19 Question Id : 5038905451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<171 3epfal H fob Finyor 82

—

Options :
1. % 4
2.% 3
3.% 6
4. 95

Question Number : 20 Question Id : 5038905452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the mirror image of the given image.

Question figure

A
246
3 5
7§
B
Options :
h
9 39
1. % z?
642
53
2. % 7
CIE RN
c&
3. A
L
>
9 v e
4. %

Question Number : 20 Question Id : 5038905452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Awareness

Group Number : 2
Group Id : 50389064
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 503890172
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890208
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5038905453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following languages was originally used for the composition of the National Anthem of India?
Options :

1. * Hindi

2. % Sanskrit

3. ¥ Bengali

4. % QGujarati

Question Number : 21 Question Id : 5038905453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Froffad & 9 B IS 4o T ¥ 4R & APE S 321 & folt STAN &1 78 &
Options :

1. % fgdl

2. ® ¥pd

3. ¢ ST

4. % TORIdI

Question Number : 22 Question Id : 5038905454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not there in the Amer Fort?
Options :

1. # Diwan-e-Aam

2. # Diwan-e-Khaas

3. ¥ Sukh Niwas

4. ¥ Roopmati Mahal

Question Number : 22 Question Id : 5038905454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed o 9 319 91 3R & fovett # 761 82
Options :

1. % 9 T MW

2. % A TE™

3. % g ™

4. ¥ YA AR

Question Number : 23 Question Id : 5038905455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kelucharan Mohapatra is an eminent dancer in which of the following dances?



Options :

1. # Bharatnatyam
2. ¥ Qdissi

3. % Kathakali

4. # Kathak

Question Number : 23 Question Id : 5038905455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H Rl T fFafafad & 9 fy 7a & te TRerd Tde /2
Options :

1. % YRJATRH

2. ¢ SIS

3. % HYDal

4, ¥ hDd

Question Number : 24 Question Id : 5038905456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Prime Minsiters released the the stamp "Wheat Revolution" to appreciate the Green Revolution?
Options :

1. # Jawaharlal Nehru

2. ¥ Indira Gandhi

3. % Lal Bahadur Shastri

4. # Narendra Modi

Question Number : 24 Question Id : 5038905456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & 9 oo uem w3t A giRd Hifd &t TS H & ot "7 wifd" ST fedhe SIRY fbar Ure

Options :




1. % JaTeR A1 A%
2.« SfaRr ieh
3. % el §gIgR Qe
4, % TR A

Question Number : 25 Question Id : 5038905457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organizations in India is known as the "Lender of Last Resort"?
Options :

1. * Finance Ministry

2. ¥ Reserve Bank of India

3. % State Bank of India

4. % Home Ministry

Question Number : 25 Question Id : 5038905457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R # fFafafead § @ o 91 e sifad Iurg &1 HUrerdr & w9 § SHT ST /2
Options :

1. % fod g™

2. ¢ YR Roid

3. % YRAW ¥ d&

4. % T[g HATHY

Question Number : 26 Question Id : 5038905458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following refrective defects of vision is also known as Short-sightedness?
Options :

1. ¥ Myopia



2. % Hypermetropia
3. % Presbyopia
4. % Cataract

Question Number : 26 Question Id : 5038905458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofofed & @ fra =P S & srgRaRfar & A & +ft S Srar 82
Options :

1. ¢ HIIua

2. % QWA

3. % UHEEIOAn

4. % Hevac

Question Number : 27 Question Id : 5038905459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered the vaccine for smallpox in 1798?
Options :

1. ¥ Edward Jenner

2. % James Phipps

3. % Alexander Fleming

4. % Robert Koch

Question Number : 27 Question Id : 5038905459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1798 H ddch & Clcb bl Wiol farg i &t
Options :

1. ¥ TSds R

2. % owy b



3. % 3[cIdoiex Tl
4. % Ja DI

Question Number : 28 Question Id : 5038905460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of June 2021, which of the following is the largest state in India in terms of area?
Options :

1. % Uttar Pradesh

2. % Maharashtra

3. ¥ Rajasthan

4. ¥ Madhya Pradesh

Question Number : 28 Question Id : 5038905460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 T6 I0AS STHBHR! & AR FHfRId T ¥ HIH91 T YR BT TG4 871 I 67
Options :

1. % JW UK

2. % HeRIY

3. ¥ STV

4, % T Y

Question Number : 29 Question Id : 5038905461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rivers originates from a glacier near Bokhar Chu in the Tibetan region?
Options :

1. # Ravi

2. # Chenab

3. ¥ Indus



4. % Brahmaputra

Question Number : 29 Question Id : 5038905461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofaied & 3 forg 7t &1 33w st &3 3 SRR g & e Ue fReHg Y 8T a2
Options :

1. % 7at

2. % TG

3. ¢ Ry

4. % oglyd

Question Number : 30 Question Id : 5038905462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Battle of Plassey was fought?
Options :

1. % 1557

2. % 1763

3. % 1773

4. % 1757

Question Number : 30 Question Id : 5038905462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W &1 g fop aef a1 mam U
Options :

1. % 1557

2. % 1763

3. % 1773

4.9 1757



Question Number : 31 Question Id
Orientation : Vertical

: 5038905463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Harappan cities was located on Khadir Beyt in the Rann of Kutch?

Options :

1. % Kalibangan

2. ¥ Dholavira

3. ¥ Mohenjo Daro
4. % Lothal

Question Number : 31 Question Id
Orientation : Vertical

: 5038905463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fFoffead § ¥ ST gsWIHTei TR Hw3 & 01 H WifeR 3ud & fobaR a1 Y12

Options :

1. % BIAIET
2. ¢ HIAERT
3. % Tigsl GRY

4. % QYA

Question Number : 32 Question Id
Orientation : Vertical

: 5038905464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who was the first Governor-General of Free India?

Options :

1. ¥ Lord Mountbatten

2. # Lord Warren Hastings
3. # C Rajgopalchari

4. # Lord Wavell

Question Number : 32 Question Id

: 5038905464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T HRA & YYH TTaR SR DI 92
Options :

1. ¢ Als HrcacH

2. % Als arA g™

3. % T ISUEER]

4. % QI8 ddd

Question Number : 33 Question Id : 5038905465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hindi in Devanagari Script is the official language of India according to which article of the Indian Constitution?
Options :

1. % 354

2. % 341

3. % 313

4. % 343

Question Number : 33 Question Id : 5038905465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU & g 3ifwse & AR "¢a-RI fofd | fgdl YRd Bt AeTHTe 52
Options :

1. % 354

2. % 34]

3. % 313

4. % 343

Question Number : 34 Question Id : 5038905466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following articles provides that Right to Education is a Fundamental Right?
Options :

1. % 17

2.¥21A

3.% 19

4. % 32

Question Number : 34 Question Id : 5038905466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiRad & o9 91 3 UeH HRal 8 & e o1 iR ue Mfers siftier 32
Options :

1. % 17

2.¥ 21A

3.% 19

4, % 32

Question Number : 35 Question Id : 5038905467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indians is the latest recipient of the Nobel Prize?
Options :

1. * Amartya Sen

2. # Kailash Satyarthi

3. * V Ramakrishnan

4. ¥ Abhijit Banerjee

Question Number : 35 Question Id : 5038905467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafIRed § I &I 91 URATT Tied [RIGR &1 "dHdq Ui 82

Options :



1. % AT I

2. % Harsr garff
3. % 9 MHUH
4. ¢ S ol

Question Number : 36 Question Id : 5038905468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the novel "A passage to India"?
Options :

1. # HG Wells

2. % E M Forster

3. % Pt. Jawaharlal Nehru

4. ¥ Edward Gibbon

Question Number : 36 Question Id : 5038905468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U ¢ 3301 S & adh DI 62
Options :

1. % T SN o

2. v 3. TH. BRER

3. % Uf$d Sargrdrd 48%

4. % TSqs [EH

Question Number : 37 Question Id : 5038905469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the first ever ICC Cricket World Cup organized?
Options :

1. # West Indies



2. #* Australia
3. % England
4. * India

Question Number : 37 Question Id : 5038905469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdl IR ICC fohare fay 35U &7 SIS @l [ a1 U1
Options :

1. % 9K SN

2. % 3ffecfer

3. ¢ SIS

4. % HRd

Question Number : 38 Question Id : 5038905470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the headquarters of FIFA located?
Options :

1. % Germany

2. % United Kingdom

3. ¥ Switzerland

4. % USA

Question Number : 38 Question Id : 5038905470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1T T AT el [Ud 82
Options :

1. % ST
2. % Jefged



3. ¥ RacoRds
4. % IARPT

Question Number : 39 Question Id : 5038905471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organizations developed the COVID-19 vaccine Covaxin?
Options :

1. # Pfizer

2. # Indian Medical Association

3. % Serum Institute of India

4. ¥ Bharat Biotech

Question Number : 39 Question Id : 5038905471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed 3 @ g W87 A COVID-19 3aH Covaxin 1 [dHRid fam g2
Options :

1. % hIgul}

2. % &Y AiShe TARITTH

3. % URA SEIC it Sfear

4.« YRd IRICH

Question Number : 40 Question Id : 5038905472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of June 2021, who is the President of Palestine?
Options :

1. ¥ Mahmoud Abbas

2. % Mohammad Ibrahim Shtayyeh

3. % Benjamin Netanyahu



4. % Reuven Rivlin

Question Number : 40 Question Id : 5038905472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 T IUAS THBRI b STIR IRl & I JPUfd I 52
Options :

1. ¥ HgHa 3ed[Y

2. % TIEHIE SSfGH iy

3. % SSIEE Ad=Tg

4. % =a Rafer
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Group Number : 3
Group Id : 50389065
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5038905473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

45% of 480 + 182 =72 - 172 + 102
Options :

1. ® 20

2.% 23

3.¥27

4. % 32

Question Number : 41 Question Id : 5038905473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou U o © Uy g (2) & RIF TR T ST

480 T 45% + 182=72-172+ 102
Options :

1. % 20

2. %23

3.¥27

4, % 32

Question Number : 42 Question Id : 5038905474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the value of a x b in the equation given below.

3(2 3) w 13(1-—1}: 5413 % 3a4 % 13S—b
Options :

1. %1

2. % -1

3.% 2

4. 90

Question Number : 42 Question Id : 5038905474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu T gHteRur | 2 x b T HHE J1d B

3[2 3) % 13[1-—1}: 5413 % 3:14 4 13S—b
Options :

1. %1

2. % -1

3.% 2

4.0

Question Number : 43 Question Id : 5038905475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCF of two numbers is 18 and their product is 2196. What is the LCM of these numbers?
Options :

1. % 98

2.9 122

3. %108

4. % 112



Question Number : 43 Question Id : 5038905475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l =TS T HETH JHUAY 18 8 3R SAH] [UHGA 2196 ¢ | 57 WSS &1 TgAH THITS 3T 62
Options :

1. % 98

2.9 122

3. % 108

4. % 112

Question Number : 44 Question Id : 5038905476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the largest number that divides 102, 141, 258 and leaves the same remainder in each case.
Options :

1. % 17

2. % 26

3.9 39

4. % 56

Question Number : 44 Question Id : 5038905476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y IS T JTd DIford o 102, 141, 258 B FAHTNIT B TR ATHA U THH U 81
Options :

1. % 17

2. % 26

3.9 39

4. % 56

Question Number : 45 Question Id : 5038905477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction of the following fractions.
Options :
85
| % 48

135

2. # 123

23

3. % 15

812
4.« 795

Question Number : 45 Question Id : 5038905477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRa el # 3 Fer Bict fiel ;d Bt |
Options :

85
1% 48

135
2. % 123

23

3 # 15

812
4.« 795



Question Number : 46 Question Id : 5038905478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 7 numbers is calculated as 59, but it is found that one number is wrongly taken as 83 instead of 27. Find the correct average.
Options :

1. % 53

2. % 56

3.¥ 51

4. % 57

Question Number : 46 Question Id : 5038905478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 TSI o ST D1 UM 59 & =4 H BT STl &, A1 Ig U A1 & b T T Bl Tl A 27 & Sord 83 fordn a1 5 | gl 3fd
I1d IS

Options :

1. #* 53

2. % 56

3.9 51

4, % 57

Question Number : 47 Question Id : 5038905479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of a pen decreases by 12.5 percent, then Tim can buy 2 more pens for Rs. 112. What is the initial price (in Rs.) of each pen?
Options :

1. * Rs.4

2. % Rs.14

3. ¥ Rs.8

4. % Rs.7



Question Number : 47 Question Id : 5038905479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m@%H\wﬁ12.5%@%@&@@%&%1126qﬁﬁ23{i%rﬁaaﬁ=raﬁawm%| U U &1 RS Jed (3T )
)

Options :

1. % 430

2. % 1430

3. ¢ 8%

4. % 7307

Question Number : 48 Question Id : 5038905480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town is 1500. If the number of males increases by 8 percent and that of the females by 10 percent, then the population would
increases to 1630. Find the number of females in the town.

Options :
1. * 300
2.9 500
3. % 400
4. % 600

Question Number : 48 Question Id : 5038905480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B BT I 1500 § 1 TfS U T BT 8 UTa=Id SR AfGamati &1 Aea & 10 Uf=Id &1 3fG Bieh o, Al el ¢ 1630 Bl
ST | heel H Higel3ii o UBAT JTd il |

Options :

1. % 300

2. ¢ 500

3. % 400

4. % 600




Question Number : 49 Question Id : 5038905481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells sugar in such a way that the selling price of 950 gm is the same as the cost price of one kilogram, find his gain percent.
Options :

1. %5

2. % 50/19

3.9 100/19

4. % 100/21

Question Number : 49 Question Id : 5038905481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER G B 39 THR §adT § 19 950 TATH i1 BT foeh! Yo, 1 falT. i1 & o Jed & SRIR &, AT UT=Id 1d Hiforg |
Options :

1. %5

2. % 50/19

3. 9100/19

4. % 100/21

Question Number : 50 Question Id : 5038905482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The age of 4 persons are in the ratio of 13:21:10:25, and their average age is 69 years. Find the difference between the age of the oldest and the
youngest person.

Options :

1. % 80 years
2. % 30 years
3. ® 40 years
4. ¥ 60 years



Question Number : 50 Question Id : 5038905482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR HfaTdl DT TG BT AT 13:21:10:25 §, 3R SP! 3T 3T 69 T8 g | Y s Al 3R T Bl AT & aird D1 TG BT 3R
1 DI

Options :

1. % g0 ay
2. % 30Ty
3. % 40 Y
4. ¢ 60 qY

Question Number : 51 Question Id : 5038905483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag contains Rs.1, 50 paisa and 25 paisa coins in the ratio of 3:4:8 respectively. If total value of money in the bag is Rs.840. Find the no. of 50
paisa coins in the bag.

Options :
1. * 540
2. % 600
3. ¥ 480
4. % 360

Question Number : 51 Question Id : 5038905483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP o7 & HHRE: 3:4:8 B IO H 1 T, 50 TF 3R 25 TN & Ryah 8 | A ST H 67 1 HA T 840 IUA g, I ST H 50 T o Ryaap! B
BT J1d BT |

Options :

1. % 540

2. % 600

3. ¢ 480

4. % 360




Question Number : 52 Question Id : 5038905484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If at a certain rate of simple interest, the principal amount becomes Rs. 15,240 and Rs. 16,860 in 3 years and in 4.5 years respectively, then find
the rate of interest (in percent per annum).

Options :

1. # 10 percent
2. ® 12 percent
3. % 9 percent
4. % 9.6 percent

Question Number : 52 Question Id : 5038905484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g AR TS D1 ol W &X IR G 3 I8 3R 4.5 T T HHRT: 15,240 ¥UY 3R 16,860 TG §I ST &, 01 STl ! &2 I (Ifa=ra
yfday #) sifer|

Options :

1. % 10 Yfd=rd

2. % 12 ufdwd

3. ¢ 9 Ufd=rd

4. % 9.6 gfa=rd

Question Number : 53 Question Id : 5038905485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Initially, the distance covered by a bus in 1 hour is 40 km, but after every hour its speed is increased by 2 km/hr. Find the total distance covered
by bus in 5 hours.

Options :

1. ¥ 220 km
2. % 250 km
3. % 240 km



4. %= 280 km

Question Number : 53 Question Id : 5038905485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URY T, T §9 gRT 1 °9¢ & a9 &1 T g3t 40 fortft B, afer ufa € saat 7ifd 2 fpefi/der g St 81 5 ¢ H a9 gR1 a0 &1 718 $d gt 91
P

Options :

1. ¢ 220 fop it
2. % 250 fopuit
3. % 240 foprit
4. % 280 fopdit

Question Number : 54 Question Id : 5038905486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The boat can travel in still water at 7 kmph and the speed of stream is 3 kmph. Find the total time taken by the boat to travel upstream 60 km and
returned to the same point where it starts? (in hours).

Options :
1. # 18
2.% 21
3. % 15
4. % 16

Question Number : 54 Question Id : 5038905486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Tt 7 719 7 ot Uiy get 61 1f | I o Wbl § SIR URT BT 7f 3 fovelt Ui Her § 1 9T o fqusia fa=m o o0 fooedt amn v o
3R 3HP RIS foig TR AU 11 T 19 GRT o T $ot 9o 1 R (der )

Options :

1. % 18

2.¥ 21




3. % 15
4. % 16

Question Number : 55 Question Id : 5038905487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipes A and B alone can fill an empty tank in 10 hours and 20 hours respectively. Pipe C alone can empty the full tank in 12 hours. In how many
hours pipes A, B and C together can fill the empty tank?

Options :

1. * 12 hours
2. * 13 hours
3. % 18 hours
4. ¥ 15 hours

Question Number : 55 Question Id : 5038905487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI3Y A 3R B 3fdhal WA ¢ BI WA B HHRE: 10 G 3R 20 B T g1 TIRY C 3fhal 4 §5 ¢ DI WIah b | 12 9 T g1 U1y
A, B 3R C GRT TS 1Y Wl ¢ Dl WA | foa ¢ &1 TG T

Options :

1. % 127%¢

2. % 13%¢

3. % 184c

4. ¢ 154c

Question Number : 56 Question Id : 5038905488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A rectangle having length as 21 cm and breadth as 10 cm is rotated about its longer edge as axis. Find the volume of the solid generated.
Options :

| % 7207 m cm?



3

7 ¢ 2100 wemr
3. % 2140 wcm?

4. % 1025 mem®

Question Number : 56 Question Id : 5038905488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T foryen! THaTg 21 THT 3R A1STs 10 T ©, 3 STD! il YT Bl 3Hef AHHBR 3181 TR GHT ol ¢ | FAfHd §% o1 Sfehfd &1
3T J1d DI

Options :

1. ® 7207 © QR

7 o 2100 T THB
3 % 2140 T TA?

4 % 10257 QP

Question Number : 57 Question Id : 5038905489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radii of two cylinders A and B are in the ratio of 4:7 and the heights are in the ratio of 7:5 respectively. Find the ratio of curved surface area
of cylinder B to that of A.

Options :
1.9 54
2. % 49:35
3. % 6:5
4. % 35:49



Question Number : 57 Question Id : 5038905489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 9T A 3R B B AT HHT: 4:7 F SFIUTT | § 3R $dTs HHRT: 7:5 P UM H ¢ | 0 B & dshUE &6 d BT 3T A I A HIoT|
Options :

1. ¢ 54

2. % 49:35

3. % 6:5

4. % 35:49

Question Number : 58 Question Id : 5038905490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the spending of a family on various heads during a month.

@Rent ®Food wOthers wEducation mFuel

If the total income of the family is Rs.25,000, then the amount spent on Rent and Food together is:
Options :

1. ¥ Rs.17,250

2. ¥ Rs.14,750



3. ® Rs.11,250
4. % Rs.8,500

Question Number : 58 Question Id : 5038905490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear o urE_ard U ufkarR gRT fafte #el iR Ue weH | fohw U W & guifar 3|

ST ¥sea Maem e Mo

gfe 39 IRGR &1 Hd 3 25,000 ¥ B, A fHmn auT 1o IR & foha-T T 31 82
Options :

1. % 17,250 04

2. ¥ 14,750 304

3. % 11,250 390

4. % 8500 904

Question Number : 59 Question Id : 5038905491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the spending of a family on various heads during a month.



@Rent ®mFood wOthers wEducation & Fuel

What is the ratio of the expenses on Education to the expenses on Food?
Options :

1.¥1:3

2. % 3:2

3. % 3:5

4. % 53

Question Number : 59 Question Id : 5038905491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear a1 urs-ard ue ufvaR gR1 fafte wel R te e | fohu U T ol guiiar 3|



ST ¥aea Myem ¥R Moud

e IR 58 U T &1 HieH W o8 U T & A1y U e 82
Options :
1.¥ 13
2. % 32
3. % 3:5
4. % 53

Question Number : 60 Question Id : 5038905492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph below shows the results of a survey conducted in a city. It shows the number of families in that city having various daily incomes.
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How many families have daily income not less than Rs.2000 but less than Rs.6000?
Options :

1. ¥ 1550

2. % 1150

3. % 1250

4. % 1400

Question Number : 60 Question Id : 5038905492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e mar aT e weR # fu T gderur & uRume & awiiar ] 1 98 39 weR # fftr e 3 arel uRaR) a1 g & ewiar 2
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Options :
1. ¥ 1550
2. % 1150
3. % 1250
4. % 1400
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Question Number : 61 Question Id : 5038905493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.
If there is no error present, then select No error as answer.

Options :

1. ¥ The move came at a time when the Chinese involvement in Nepal is surging, largely on the back of Beijing’s BRI project.
2. % The leaders of the SCO countries has signed a joint declaration at the summit Kyrgyzstan’s capital Bishkek.

3. % “Countries sponsoring, aiding, and funding terrorism must be hold accountable”, he said.

4. # SCO is the largest regional organizations in the world in terms of geographical coverage and population.

Question Number : 61 Question Id : 5038905493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which



sentence is grammatically correct and select the appropriate option.
If there is no error present, then select No error as answer.

Options :

1. ¥ The move came at a time when the Chinese involvement in Nepal is surging, largely on the back of Beijing’s BRI project.
2. % The leaders of the SCO countries has signed a joint declaration at the summit Kyrgyzstan’s capital Bishkek.

3. # “Countries sponsoring, aiding, and funding terrorism must be hold accountable”, he said.

4. ® SCO is the largest regional organizations in the world in terms of geographical coverage and population.

Question Number : 62 Question Id : 5038905494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Because of the high prices first they discontinued jam on toasts and then substituted margarine for butter.
Options :

1. # Because of the high prices

2. # first they discontinued jam on toasts

3. % and then substituted margarine for butter

4. ¥ No error

Question Number : 62 Question Id : 5038905494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Because of the high prices first they discontinued jam on toasts and then substituted margarine for butter.
Options :

1. # Because of the high prices

2. # first they discontinued jam on toasts

3. # and then substituted margarine for butter

4. ¥ No error

Question Number : 63 Question Id : 5038905495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segments in the given sentence. If there is no need to substitute them, select No
substitution required'.

After a close-watched meeting, the Board announced its decision to accept a 5-acre plot allotted by the state government.
Options :

1. #® a close-watched meeting, announced its decision, 5-acres plot
2. % 3 closely-watched meeting, announced it's decision, 5-acres plot
3. ¥ a closely-watched meeting, announced its decision, 5-acre plot

4. ® No substitution required

Question Number : 63 Question Id : 5038905495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segments in the given sentence. If there is no need to substitute them, select 'No
substitution required'.

After a close-watched meeting, the Board announced its decision to accept a S-acre plot allotted by the state government.
Options :

1. # a close-watched meeting, announced its decision, 5-acres plot
2. % a closely-watched meeting, announced it's decision, 5-acres plot
3. ¥ a closely-watched meeting, announced its decision, 5-acre plot

4. % No substitution required

Question Number : 64 Question Id : 5038905496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no
need to substitute it, select 'No substitution required'.

A meeting of the union cabinet has been called at 11 am on Wednesday.
Options :
1. # has being called




2. % have been called
3. % had being called
4. ¥ No substitution required

Question Number : 64 Question Id : 5038905496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no
need to substitute it, select 'No substitution required'.

A meeting of the union cabinet has been called at 11 am on Wednesday.

Options :

1. # has being called

2. % have been called

3. #* had being called

4. ¥ No substitution required

Question Number : 65 Question Id : 5038905497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Waving a fan for nearly 12 hours continuously, with just a break for lunch, could make arms sore.
Options :

1. ¥ anyone’s

2. # everyone

3. % anyone

4. # everyone’s

Question Number : 65 Question Id : 5038905497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



Waving a fan for nearly 12 hours continuously, with just a break for lunch, could make arms sore.
Options :

1. ¥ anyone’s

2. # everyone

3. % anyone

4. # everyone’s

Question Number : 66 Question Id : 5038905498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She from the position of the station chief executive officer last year, but she is still the director.
Options :

1. # adapted

2. ¥ resigned

3. % agitated

4. # yielded

Question Number : 66 Question Id : 5038905498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She from the position of the station chief executive officer last year, but she is still the director.
Options :

1. # adapted

2. ¥ resigned

3. % agitated

4. % yielded

Question Number : 67 Question Id : 5038905499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. So how do you really focus on being productive without killing your creativity?

Q. More than anything, it's been difficult for creative people to keep up with their creativity.

R. This lockdown has been hard on almost all employees.

S. There are ways through which you can hit your deadlines without any negative emotional, mental and physical effects of burnout.

Options :

1. ® PQRS
2. ¥ RQPS
3. # SRQP
4. % QRSP

Question Number : 67 Question Id : 5038905499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. So how do you really focus on being productive without killing your creativity?

Q. More than anything, it's been difficult for creative people to keep up with their creativity.

R. This lockdown has been hard on almost all employees.

S. There are ways through which you can hit your deadlines without any negative emotional, mental and physical effects of burnout.

Options :

1. ® PQRS
2. ¥ RQPS
3. # SRQP
4. % QRSP

Question Number : 68 Question Id : 5038905500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P Visibility was almost zero.



Q There were blinding flashes, followed by peals of thunder.
R Suddenly without any warning, our helicopter went into a spin and nosedived into the darkness below.
S Our anxiety rose into fear.

Options :

1. % RPSQ
2. ¥ QPSR
3. % PQRS
4. % SPQR

Question Number : 68 Question Id : 5038905500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P Visibility was almost zero.

Q There were blinding flashes, followed by peals of thunder.

R Suddenly without any warning, our helicopter went into a spin and nosedived into the darkness below.
S Our anxiety rose into fear.

Options :

1. % RPSQ
2. ¥ QPSR
3. # PQRS
4. % SPQR

Question Number : 69 Question Id : 5038905501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

INEBRIATED
Options :

1. # Stupefied
2. # Unsteady
3. % Drunken



4. * Broken

Question Number : 69 Question Id : 5038905501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

INEBRIATED
Options :

1. # Stupefied
2. # Unsteady
3. ¥ Drunken
4. % Broken

Question Number : 70 Question Id : 5038905502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

EFFEMINACY
Options :

1. ¥ Aggressiveness
2. ¥ Manliness

3. % Boorishness

4. ® Verbosity

Question Number : 70 Question Id : 5038905502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

EFFEMINACY
Options :



1. # Aggressiveness
2. ¥ Manliness

3. % Boorishness

4. # Verbosity

Question Number : 71 Question Id : 5038905503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word

Options :

1. # Asymphtomatic

2. # Asymphtometic

3. % Asymptomatic

4. ¥ Asymptomattic

Question Number : 71 Question Id : 5038905503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word

Options :

1. ¥ Asymphtomatic

2. % Asymphtometic

3. ¥ Asymptomatic

4. % Asymptomattic

Question Number : 72 Question Id : 5038905504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. # Forward

2. % Pharaoh



3. #* Fahrenheit
4. ¥ Liaeson

Question Number : 72 Question Id : 5038905504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. # Forward

2. # Pharaoh

3. % Fahrenheit

4. ¥ Liaeson

Question Number : 73 Question Id : 5038905505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Kick the can down the road

Options :

1. # A task or job that is easy to complete
2. # It never changes back or comes back
3. % To avoid dealing with a problem

4. ¥ Hear news of something secret

Question Number : 73 Question Id : 5038905505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Kick the can down the road
Options :
1. # A task or job that is easy to complete



2. # It never changes back or comes back
3. % To avoid dealing with a problem

4. ¥ Hear news of something secret

Question Number : 74 Question Id : 5038905506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To take to one's heels
Options :

1. % To run off

2. % To show one's heels
3. # To turn around

4. % To walk leisurely

Question Number : 74 Question Id : 5038905506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To take to one's heels
Options :

1. ¥ To run off

2. ®% To show one's heels
3. # To turn around

4. % To walk leisurely

Question Number : 75 Question Id : 5038905507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



Study of diseases and their causes, based on laboratory examinations
Options :

1. # Pantomime

2. # Parasite

3. % Parasol

4. ¥ Pathology

Question Number : 75 Question Id : 5038905507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Study of diseases and their causes, based on laboratory examinations
Options :

1. # Pantomime

2. % Parasite

3. # Parasol

4. ¥ Pathology

Sub-Section Number : 2
Sub-Section Id : 503890211
Question Shuffling Allowed : Yes

Question Id : 5038905508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

In the French province of Roussillon, the widowed Countess bids farewell to her son Bertram. Bertram is going to the court of the French King
with his swaggering friend Paroles and the Lord Lafeu. Bertram leaves oblivious to the attentions of Helen, the orphan daughter of the Countess's
celebrated physician. Helen has been brought up in his mother's household and has fallen in love with Bertram.

The Countess allows Helen to go to court and try her hand at curing the King's illness. Where others have failed, she succeeds, and as a reward,
the King asks her to choose a husband from among his wards. (Who else would she choose but Bertram?) Bertram sees the alliance as beneath
him. After the marriage ceremony, he runs away and plans to join the wars in Italy with Paroles.



He writes to Helen that he will not acknowledge their marriage until she can prove she wears his heirloom ring and carries his child. Helen
returns home to Roussillon, but she does not give up. Instead, she soon leaves and, disguised as a pilgrim, follows Bertram to Florence. There,
she befriends a widow and her daughter Diana. Meanwhile, Bertram has formed an obsession with Diana during his time in Italy. The soldiers
jokingly trick Paroles into proving he is a coward, while Bertram makes intentions to sleep with Diana.

Diana plots to help Helen fulfil Bertram's impossible requests for marriage. Diana insists the meeting with Bertram must be in the dark, and a
disguised Helen takes Diana's place. During the night, Bertram gives Helen his ring (thinking that she is Diana), and they conceive a child.

Sub questions

Question Number : 76 Question Id : 5038905509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line “She soon leaves and, disguised as a pilgrim” refer to—
Options :

1. # Diana

2. # Countess

3. % Widow

4. ¥ Helen

Question Number : 77 Question Id : 5038905510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the Countess allow Helen to go to court?
Options :

1. #* to inform the king about upcoming threat

2. % to please king with cooking skillls

3. ¥ to try her hands to cure the illness of the king
4. % to marry the king as she very beautiful

Question Number : 78 Question Id : 5038905511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, who has formed obsession with Diana?



Options :

1. # Countess
2. # Paroles
3. % Lafeu

4. ¥ Bertram

Question Number : 79 Question Id : 5038905512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Oblivious”?
Options :

1. ¥ concerned

2. # heedless

3. * unconscious

4. % insensible

Question Number : 80 Question Id : 5038905513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. # Bertram leaves oblivious to the attentions of Helen.

2. # Helen returns home to Roussillon, but she does not give up.

3. # Diana insists the meeting with Bertram must be in the dark.

4. ¥ Paroles writes a letter to Helen that he will not acknowledge their marriage.

Question Id : 5038905508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

In the French province of Roussillon, the widowed Countess bids farewell to her son Bertram. Bertram is going to the court of the French King
with his swaggering friend Paroles and the Lord Lafeu. Bertram leaves oblivious to the attentions of Helen, the orphan daughter of the Countess's



celebrated physician. Helen has been brought up in his mother's household and has fallen in love with Bertram.

The Countess allows Helen to go to court and try her hand at curing the King's illness. Where others have failed, she succeeds, and as a reward,
the King asks her to choose a husband from among his wards. (Who else would she choose but Bertram?) Bertram sees the alliance as beneath
him. After the marriage ceremony, he runs away and plans to join the wars in Italy with Paroles.

He writes to Helen that he will not acknowledge their marriage until she can prove she wears his heirloom ring and carries his child. Helen
returns home to Roussillon, but she does not give up. Instead, she soon leaves and, disguised as a pilgrim, follows Bertram to Florence. There,
she befriends a widow and her daughter Diana. Meanwhile, Bertram has formed an obsession with Diana during his time in Italy. The soldiers
jokingly trick Paroles into proving he is a coward, while Bertram makes intentions to sleep with Diana.

Diana plots to help Helen fulfil Bertram's impossible requests for marriage. Diana insists the meeting with Bertram must be in the dark, and a
disguised Helen takes Diana's place. During the night, Bertram gives Helen his ring (thinking that she is Diana), and they conceive a child.

Sub questions

Question Number : 76 Question Id : 5038905509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line “She soon leaves and, disguised as a pilgrim” refer to—
Options :

1. % Diana

2. % Countess

3. ¥ Widow

4. ¥ Helen

Question Number : 77 Question Id : 5038905510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the Countess allow Helen to go to court?
Options :

1. # to inform the king about upcoming threat

2. % to please king with cooking skillls

3. ¥ to try her hands to cure the illness of the king

4. % to marry the king as she very beautiful



Question Number : 78 Question Id : 5038905511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, who has formed obsession with Diana?
Options :

1. # Countess

2. % Paroles

3. # Lafeu

4. ¢ Bertram

Question Number : 79 Question Id : 5038905512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Oblivious™?
Options :

1. ¥ concerned

2. # heedless

3. ¥ unconscious

4. % insensible

Question Number : 80 Question Id : 5038905513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. # Bertram leaves oblivious to the attentions of Helen.

2. # Helen returns home to Roussillon, but she does not give up.

3. * Diana insists the meeting with Bertram must be in the dark.

4. ¥ Paroles writes a letter to Helen that he will not acknowledge their marriage.
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Question Number : 81 Question Id : 5038905514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId O ¥ "SRAR" 8§ HiH- Wi 82
Options :

1. v IR

2. % 3rfe Y

3. % fouel 9fy



4. % gur iy

Question Number : 81 Question Id : 5038905514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafRed o 9 "eRER" & SF-3 9 g2
Options :

1. ¢ Y iy

2. % 3fe iy

3. % fagil fy

4. % Uy

Question Number : 82 Question Id : 5038905515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed § ¥ d@H Yeg &1 9949 BIfoTL-
Options :

1. % S

2. % IRd

3. % 3{HI

4.+ Ifd

Question Number : 82 Question Id : 5038905515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRed ¥ ¥ dH Xeg &1 I94 PIToTe-
Options :

1. % Sa

2. % IRd

3. % 3{HT

4. Ifd




Question Number : 83 Question Id : 5038905516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed & @ "urg-guge § SH-91 96 82
Options :

1. % HHYRY AN

2. % ggsiig JH™

3. ¥ ga UHN

4. % g Oy

Question Number : 83 Question Id : 5038905516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafead 3 T am-guar & HH-91 99 82
Options :

1. % HHYRY GANY

2. % ggsiig JHN

3. ¥ gg JHN

4. % fg 9u™

Question Number : 84 Question Id : 5038905517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Freffed o & $1H-91 X1eg HTaaTad T 61 IETER0 Ta] 872
Options :

1. % gfTsadr

2. % UNTeiyd

3. SO

4, % TR



Question Number : 84 Question Id : 5038905517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR o ¥ -3 16 HIaaTad 431l BT 3GIex 1ol 62
Options :

1. % gfTsadr

2. % UNTU—

3. ¢ SfiEl

4. % TR

Question Number : 85 Question Id : 5038905518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfiRad & O arace ®1 TiER Ueg BIH-91 82
Options :

1. ® gd

2.9 AHTHHY

3. % g

4, % gdq

Question Number : 85 Question Id : 5038905518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafed & ¥ araare 1 waihaE! g HH-a1 82
Options :

1. ® QUgd

2. ¢ AHTHIHY

3. % QR

4. % g

Question Number : 86 Question Id : 5038905519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=foRed o ¥ 3 9T aTd Xeg BT 99 HIToTE-
Options :

1. % 3R

2. % o

3. v ATl

4. % TR

Question Number : 86 Question Id : 5038905519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frforad & @ gg ad=it arel Xeg &1 T B
Options :

1. % 3fcifed

2. % o

3. v gRar

4. % YR

Question Number : 87 Question Id : 5038905520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed & & Ierdt &1 fad wree HIF-a1 32
Options :

1. ¢ (oem

2. % faer

3. % Big

4, % 3d

Question Number : 87 Question Id : 5038905520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFrefafed & & Ierndt &1 fad wree HIF-a1 32
Options :

1. ¢ (oem

2. % faere

3. % Big

4, % 3d

Question Number : 88 Question Id : 5038905521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTerRieT o foTT Ueh Req T =T HITTT-

ag AT et ufy TR A dler g
Options :

1. % 3Py

2. % 3Tehld

3. ¢ S{NTAUfcen

4. % 3UITeH

Question Number : 88 Question Id : 5038905521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T a2 & foTT Ueh Xsg b1 T HIToTL-

ag ienT forenT ufd tRe=T J &fieT 5-
Options :

1. % 3Mey

2. % 3Tl

3. ¥ S{IIAUfcren]

4. % AHUTeH



Question Number : 89 Question Id : 5038905522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafed o T Yg a1 &1 999 Pift-
Options :

1. ® q%M 34 HTIE

2. ¢ BH UV P 3531 I 8141 1T
3. % YRER e SR 3|

4. % Sod! I HIET Y B A1l

Question Number : 89 Question Id : 5038905522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfafed o T Y a1 &1 999 BHifTt-
Options :

1. % M 3 BT IE g

2. ¢ H YN BT 331 1 81 A1 T
3. % YRR Mg THRT 5 |

4. % STeg! I AT Y B AT3M |

Question Number : 90 Question Id : 5038905523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoRad | O Wi Wsg &1 994 BIfoTL-
Options :

1. % gdd

2. % Y

3. GAF

4. % RIS



Question Number : 90 Question Id : 5038905523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefifad & § Wi 21ea o1 90 IR
Options :

1. % =4d

2. % HY

3. ¢ @AM

4. % URES

Question Number : 91 Question Id : 5038905524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad H T 9190 o UHR BT II9 Hifole-
YR &b GaiR § 31 Soflfardl & T 38d B

Options :

1. % iy ar

2. ® Ygad dI

3. # fowparfadiy® aia
4.« IXA I

Question Number : 91 Question Id : 5038905524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad A T 9190 & UHR BT IIT Hifole-

YRA & YAk H 3 SIoTadl & ai 38d |
Options :

1. % oy are

2. % HYad ar

3. % fqwpariesiys a1



4, & XA dI

Question Number : 92 Question Id : 5038905525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 fear a1 A ° T ford 9 1 38R 82

9o o€ Igi | el A
Options :

1.  H[dd=g

2. % HUARA

3. % Hgard

4. % HHATH

Question Number : 92 Question Id : 5038905525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear mar are A ° 2 forg 9 1 3IeRuT 82

TfeTT 319 Tg1 4 Iall S|
Options :

1. ¢ gard

2. % HHA

3. % Hgdrd

4. % JHHATA

Question Number : 93 Question Id : 5038905526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=ferfad o I gerarT "did &t ave 3fid AT &1 a7 31 g2
Options :

1. % Fe & oIl IR 381!




2. % §gd gl M IS I
3. ¢ R Gl Y ThaH YalT STl
4. % &4l ggmr d Us S|

Question Number : 93 Question Id : 5038905526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=R o & GemarT "did &1 dRE 3Hid AT &7 o 31 82
Options :

1. % 98- o T da= &1

2. % §gd g1 MY IS4 &I

3. ¢ R G B Thed YaTl ¢l

4. % fodt TgmR # Us 9|

Question Number : 94 Question Id : 5038905527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freffad & § frg diepifa o1 orf foredt axg o1 gaRl & e & T 8 ST 9
Options :

1. % i 1 g Aikse a |

2. ¢ TEToh &1 aTe! araitell 4 5 |

3. % YYH N B STHIC g TSl |

4. % §ig T8 &I |

Question Number : 94 Question Id : 5038905527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed # 9 fog Aeifad &1 i forelt avg 1 GQIRI & ST+ & JHT 8 STHT" 82
Options :

1. # figf ot Srs ufde a& |

2.  TogTSH 1 argl drsitell # 75 |




3. % Y T 3T ATHR STHT g Dol |
4. % §ig 7T I Al |

Question Number : 95 Question Id : 5038905528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fow T gt | forw faee o1 v forar mar 82
T - Sita 3} Frefeba1 HHIaT & SR B

Options :

1. % 3feufar™ fog ud quffer™ fog
2. % QUi g Ud SrafoR™ forg
3. ¢ Tioi fog ud qufform faee

4. ® Il g U9 Ooia g

Question Number : 95 Question Id : 5038905528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 7t | ford g o1 v fopan 82
AT - Sftad &1 Qrifeear HaT & HRUT S ]

Options :

1. % 3feufaR™ fug U quifar™ fog
2. % YuUifaRH forg wd Sreifar farg
3. ¢ ioieb g Ud guifor™ g

4. % I g Ud Aoreb g

Sub-Section Number : 2
Sub-Section Id : 503890213
Question Shuffling Allowed : Yes

Question Id : 5038905529 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (96 to 100)

TR I T AT YD SE HR YA & IR alford-

fore <=1 o ARt 31U <=1 & HedTu H U1 HeIUT, G b Yy H SHUAT G, oG- P Bl H U B, 3R &= B IHfex H SOI
- Gif THEd §, 96 o STRICR S~IaXId BT §, 3= GR1I & AT TRA Y SO D %l B bl § | o= B JHISD 3R
3 I+ & oy SRIaTRE! ST SRIYad 8141 (Hdid STa<a® & | o <=1 § 91d®, 35, ATRAl 3R adh 30 I & dicrael IR 30
1} ) TGTHR IY WR I, A, U USTaR R od ©, del S8 UfaI=Iel gidl 8, 98! <=1 WIfa=id giar g, 3R 33t & H1eqH ¥ 98 Iad
3T B TAT AT 5 |

Sub questions

Question Number : 96 Question Id : 5038905530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafed & @ Sufed T &1 Ifd NS S 82
Options :

1. % GRI-Yfad &I

2. % TRIATRM! &1 CRIEIG] 8T

3. % pTforRiiel vd fasrasite =

4. ¢ SR P GG H 3D ANTRD| BT ANTGH |

Question Number : 97 Question Id : 5038905531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad T & TR, fdl 3= % wfaa=med! g9 & e siawas § & 39 ik
Options :

1. % @i gl

2. % FidaM ¢ & faT F¢d aar g

3. ¢ WY AR Bl

4, % gL T

Question Number : 98 Question Id : 5038905532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=faRad & § «engea &1 fad s :1 52
Options :
1. % JdAfd
2. % gig
3.4 Odd
4. % 34

Question Number : 99 Question Id : 5038905533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T F e & -1 HY= quiqar Jet 22

Options :

%?ﬁﬁ%mwmﬁmwﬁmw 3T T} ) TR I WR o, A <NSTaR B d &, I8 S0 LTl
|

2. ¢ o 3§ a0, geg, TRAT 3R b TR e B Fferde] TR 310 1l ) TgiehR 3 WR o, A, 4 BTR R & §, a8] &

it ST 8|

3. % m@aé%ﬁ STcTeh 3R gadh 310 I 1 Sferadl TR 30 W Y TGThR I W, 7, € 3R O WBTR R &d ©, d8] &

HIR |

4. % forg S A 919, g, AIRAT 3R Jadh 3T IMEC DI Fferde] TR 3T WA DI TeThx 39 W a1, 7 3R 4 ISTeR Tal HRd ©, dal

FRRIESNIIRGIE]

Question Number : 100 Question Id : 5038905534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & SR [t 3= BT S+ R a2
Options :

1. ¢ 3P ANTRDI B1 GI-Hidd W

2. % JHD ANRD] Bl YLERI W

3. % I ANIRS! b W@ gid |

4. % I ANRD] DI Y W|

Question Id : 5038905529 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (96 to 100)

FEfIREd TR &1 AT gd e ST HR U=AT & IR GIoTd-

fore =1 o gl Sfu <=1 & HedTor H SUT HeTU, G b SRS H UAT ey, A% & HI H U B, 3R GV B! Gxfex F U1
- IfS 999 ©, 98 G¥ SARICR S BIdl §, 31 SR & WA 7Ra ¥ U] FRAD SHdl HR Johd 5| o BT YIS 3R
3T I+ o o SRIaTRIAT ST SRIYE 81 (Hdid STaa® & | o <=1 § 91d®, 35, ATRAl 3R Jadh 30 I & dicael IR 30
T Y TGThR I WR o, HH, o <NSTaR R ¢ o, Igt 31 Wfgamel 8l 7, agl 41 yrifareiiet 8l 2, 3R 32ft & Hiend § a8 gad
3=Td B TAT AT 5 |

Sub questions

Question Number : 96 Question Id : 5038905530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffifed o 3 Sudad T @1 3fd Wiie e e
Options :

1. % CRI-Hfad &1 |

2. % CRIATRMI! &1 CRIGT6! 8T

3. % TNTfARI Ud faspra=itel g

4. ¢ SR P GG T 3D ANTRD| BT ANTGH |

Question Number : 97 Question Id : 5038905531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TRITRT & SR, fhelt =1 & Wil 819 & o s1a=a e & i 39 TR
Options :

1. % @i gl

2. % FfergH <A & fow I¢a aaR &l

3. ¢ WA B

4. % YR Gl

Question Number : 98 Question Id : 5038905532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFreferad = 9 «aengey &1 faeim e 1 82
Options :

1. % I

2. % gfg

3. ¥ gd-

4. % 3¢

Question Number : 99 Question Id : 5038905533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & e & HH-I1 By qoiaar 9t 82

Options :

%%ﬁﬂ%ﬂﬁmwwmﬁ&mﬁwﬁmm 31T T BT FETHR I R, A AIBTAR IR odl &, ot o= Afda=mmait
|

2. wm%ﬁéw,qaﬂﬁﬁeﬁvw 3T I P FfeTde] TR 37U W Bl TThR 39 WR o, T, 4 STaR HR &d §, da! o

NIESRIKS |

3. % mﬁ%ﬁ ST 3R Jadh 30 I B dfcrae TR 30 Wl Bl ggIdhR 39 WR d-, 7, o 3R & AIBTaR IR &d §, dal o

HAAR |

4. % O S F TP, g, ARAT R S 3T I B! FIe1dg] TR 3O W I Ty 39 W -, T SR 49 ISTaR 6] B @, aa!

S fFa=ITet grar gl

Question Number : 100 Question Id : 5038905534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TN & SR it 32 BT 3= fR et g
Options :

1. ¢ I AR 1 G-Hidd TR

2. % I ANRDI BT YLRR W

3. % ISP ANIRG] &1 W@ gfdf R

4. % IYb ANTRD] bl 3G W |
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Question Number : 101 Question Id : 5038905535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The organism that does not reproduce is-
Options :

1. ¥ Mule



2. # Spirogyra
3. # Fungi
4. # Cockroach

Question Number : 101 Question Id : 5038905535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g8 St S Ui T8 Rl 8-
Options :

1. ¢ TR

2. % WIS

3. ® HID

4. % fqerael

Question Number : 102 Question Id : 5038905536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are different branches of science. Which of the following branches of science deals with identification , nomenclature, and classification of
organisms?

Options :

1. # Ecology

2. ®% Environmental science
3. ¥ Taxonomy

4. % Genetics

Question Number : 102 Question Id : 5038905536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ot laftre Iramt &1 Fufafad 7 9 Sl wRar Siia &t ugae, TIRHINST 3R I9% avife o & Grfid 82
Options :

1. * gRfAUfde!

2. % UYfaRoT fagH




3. ¢ qffemRur fagme (oA

AN O\

4. % 3TARID faq (SHfcRT)

Question Number : 103 Question Id : 5038905537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICBN makes the rules for nomenclature. Here ICBN stands for-
Options :

1. ® International Code for Biological Nomenclature

2. ¥ International Code for Botanical Nomenclature

3. # International Committee of Biological nomenclature

4. % International Committee of Botanical Nomenclature

Question Number : 103 Question Id : 5038905537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

318 .. T, (1ICBN) UG &1 Ufehar o e s=1ar 8 | 31139801 T. &1 JUf 4 8-
Options :

1. % CTIAA HIS BR TN AHTDh AR

2. ¢ ZCHIAA BIS BIR dieAIdd AHTDH R

3. % IEAYAA HHC! B TAANIG A AHTR AR

4. % AT HHST P dlcHdd AR IR

Question Number : 104 Question Id : 5038905538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has formalised Binomial Nomenclature.
Options :
1. ¥ Robert Hooke
2. ® Charles Darwin

3. # Carolus Linnaeus



4. % Mendel

Question Number : 104 Question Id : 5038905538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgue Amugfa gt &t EREILIE

Question Number : 105 Question Id : 5038905539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following is the book “Systema Naturae” associated with?
Options :

1. # Classification of flora

2. % Human body mechanism

3. % Natural selection

4. ¥ Classification of plants and animals

Question Number : 105 Question Id : 5038905539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Ao gae FHafafad § 9 fraa defed g
Options :

1. % gAfal BT bRl

2. % Hd IRR

3. % UThidd aa-

4. SFERT 3R Ui o1 aeffeon



Question Number : 106 Question Id : 5038905540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solanum tuberosum is the scientific name of
Options :

1. ¥ Potato

2. ¥ Tomato

3. % Cabbage

4. # Brinjal

Question Number : 106 Question Id : 5038905540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR RiRe S o K il s 1
Options :

1. & 3]

2. % CHIXR

3. % gr I

4. % T4

Question Number : 107 Question Id : 5038905541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Families are characterised on the basis of:
1. Vegetative features of plant species
2. Reproductive feature of plant species

Options :
1. # 1 only
2. % 2 only

3. % Both 1 and
2



4. % Neither 1 nor 2

Question Number : 107 Question Id : 5038905541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URaR! ot [IRAYar 39 YR TR gldl 8-

1. Qe 1 yemTfat @) g o faRivang
2. Qe Y Tl ot oo faivan
Options :

1. % Had |

2. % $Had 2

3. ¢ 1 3R 2 M

4. % A1 3RAE 2

Question Number : 108 Question Id : 5038905542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reproduction is a method by which one organism can produce their offspring, it can occur within members of -
Options :

1. * Family

2. % Order

3. * Genus

4. ¥ Species

Question Number : 108 Question Id : 5038905542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S U Ut fafYy § foraos gRT Ueh Siig 310+ Tae IUH BR Jobdl 5, U8 [pgd Je&l & HidR g1 Tahdr 82

Options :

1. % 7707 (URAR)
2. % T (PHH)




3. % 4dg
4. ST

Question Number : 109 Question Id : 5038905543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We can eat the roots of many plants. Which of the following is an example of a plant with edible roots?
Options :

1. % Wheat

2. % Potato

3. % Mango

4. ¥ Sweet potato

Question Number : 109 Question Id : 5038905543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Ul 1 ST8! &I W1 9hd g | FEfiRad § 9 oH 4 I & o I AW 81d 67
Options :

1. % 7ig

2. % 3¢

3. % 3HH

4. ¥ BB

Question Number : 110 Question Id : 5038905544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following plants, the primary root is short lived and is replaced by a large number of roots. These roots originate from the base of
the stem and constitute the fibrous root system.

Options :

1. % Gymnosperm

2. ¥ Monocotyledons
3. % Dicotyledons



4. % Bryophyta

Question Number : 110 Question Id : 5038905544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TS T b MYR T Fpeldt & 3R ISR oI YuITeht &1 A0 Bl € | IUfiie S8 Sieudbiiere gidl 8§ 3R I8! T3 | Sei g1
gfaeufud &1 o 8 | Fafafea & T ug frg 7 o1 58 gt &2

Options :

1. % 3ol
2. ¢ ThaSTuE
3. % fgdiouat

4. % SRAIGTSCT

Question Number : 111 Question Id : 5038905545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which plant is seen growing in swampy areas with many roots coming out of the ground and growing vertically upwards?
Options :

1. # Mirabilis

2. ¥ Rhizophora

3. # Banyan tree

4. ¥ Monstera

Question Number : 111 Question Id : 5038905545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 U7 qace! & H ITaT goft fawams <ar 7, foraw &g ofs sifia ¥ e § 3R SWR &1 3R Fed 82
Options :

1. ® faRifafera

2. ¢ ASBRI

3. % dTq pIga




4. % TR

Question Number : 112 Question Id : 5038905546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has authored the book “Anatomy of Seed Plants™?
Options :

1. ¥ Katherine Esau

2. % Vernon Cheadle

3. % Ray F. Evert

4. # Susan E. Eichhorn

Question Number : 112 Question Id : 5038905546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. ¥ S T

2. % g disd

3. % IYW. T

4. % GO 3. A

Question Number : 113 Question Id : 5038905547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The region of the stem from where leaves are born is called-
Options :

1. ¥ Nodes

2. % Internodes

3. % Bud

4. % Gemmule



Question Number : 113 Question Id : 5038905547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & B Y U Y URidl 1 S gielt 82
Options :

1. ¢ TgH

2. #® gAY

3. % Piciepl

4, % SOgd

Question Number : 114 Question Id : 5038905548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following:

1. This part of the plant bears both the nodes and internodes
2. It is generally green when young, but changes colour later.

Which of the following parts has been described?
Options :

1. #* Root

2. ¥ Stem

3. * Flower

4. % Bud

Question Number : 114 Question Id : 5038905548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frferad TR faTR & -

1. O 3 7 YT 717 3R i S 8§

2. 9 8 RRTG IR T g 5, 79 I8 UT: B 81l § 3R 1g & SHBT I gad oIl o




frafoRed & 9 food U &1 9o fear man g2
Options :
1. ® ¥lg
2.9 ddl
3. % d
4. %

Question Number : 115 Question Id : 5038905549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following:

1. When the incisions of the lamina reach up to the midrib breaking it into a number of leaflets, the leaf is called compound.
2. Phyllotaxy is the pattern of arrangement of leaves on the stem or branch.

Which of the above is incorrect?
Options :

1. ® Only 1

2. % Only 2

3. % Both 1 and 2

4. % Neither 1 nor 2

Question Number : 115 Question Id : 5038905549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafered w faar X -

1. OTd XRehT T FHeTd A RRT g Ugd 3R 9gd U= § g Y o) Tt u<ht & ¥gad U=l %gd ©
2. qof fa=am 9% @fan (Ue ) Bial © Forad Ul a1 a1 STeft tR Fafyd gid &

SWRIad | Q&I 9T 7Td 82
Options :

1. ® Had 1




2. % Had 2
3. % 1 3R 2 Gl
4.9 9d13MRAE 2

Question Number : 116 Question Id : 5038905550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrectly matched?
Options :

1. # Calyx - outermost whorl of the flower

2. # Corolla - brightly coloured to attract insects
3. % Gynoecium - Composed of stamens

4. % Placentation - Arrangement of ovules within the ovary

Question Number : 116 Question Id : 5038905550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # & HH-91 Tad gafed 82

Options :

1. % BiaT- I8 &7 T FIe Ih

2. % BRI - PIS| Bl MBI B P A THHIA FTH BId &
3. ¢ SART- YR Y fHedmr o

4. % SSS-ATY- ST | SIS P T g BT HH

Question Number : 117 Question Id : 5038905551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as the ‘potato-family’?
Options :

1. ¥ Solanaceae

2. ® Fabaceae



3. # Liliaceae

4. % Brassicaceae

Question Number : 117 Question Id : 5038905551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRed 7 9 6@ e por (ARaR) Fer S g2
Options :

1. ¢ At

2. % Hradt

3. % forferat

4. % Syl

Question Number : 118 Question Id : 5038905552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following flowers is zygomorphic?
Options :

1. ¥ Gulmohur

2. # Mustard

3. % Datura

4. % Chilli

Question Number : 118 Question Id : 5038905552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 &9 9 Bd Ue SO JAld (STeiHiihe) 82

Options :

1. ¢ TaHER
2. % [

3. % YT




4. % fird

Question Number : 119 Question Id : 5038905553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pith is the anatomical part of plant, which is well developed in
Options :

1. ¥ Monocot root and monocot stem

2. % Monocot root and Dicot root

3. # Dicot root and monocot stem

4. ¥ Monocot root and Dicot stem

Question Number : 119 Question Id : 5038905553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forey Ot o1 IR ST 7, S ¥ o8t ke W fawfa g g
Options :

1. % ThaoUEl 98 3R Thaloua! a1 |

2. % ThdE] O 3R fgaios ois |

3. % fEdouEl S8 SR TehdiouE! ar |

4. ¢ THAOTH o5 3R fgatormst g d

Question Number : 120 Question Id : 5038905554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The alternation of generation in Obelia is termed as
Options :

1. ¥ Metamerism

2. # Dimorphism

3. ¥ Metagenesis

4. # Metamorphosis



Question Number : 120 Question Id : 5038905554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iaferar & it & yarad & CRSIRIE

Options :

1. # HAYTYddl (Metamerism)
2. % M(Dimorphism)

3.  gHBIAR (Metagenesis)

4. % TUIARUT (Metamorphosis)
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Question Number : 121 Question Id : 5038905555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gravid proglottid has-

Options :

1. ® Only female organs are well developed

2. % An under-developed female reproductive unit
3. # A fully developed male reproductive unit

4. ¥ Branched uterus filled with fertilised eggs

Question Number : 121 Question Id : 5038905555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3SYUl ¢aws H-

Options :

1. % Had Afear 31 g} 33t Re A AT Bd &

2. % Had U 3y fa R afgar usH4 3618 §

3. % Had U guf 0 ¥ faemRd 7oy UoH 3618 §
4. ¢ fRfq sfst @ w1 wnfad mufers fosRia giar 8

Question Number : 122 Question Id : 5038905556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parasites show alternation of generation and alternation of host in its life cycle?
1. Fasciola

2. Taenia
Options :



1.+ Only 1

2. % Only2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 122 Question Id : 5038905556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&%@wﬁWﬁwwmﬁW@mmmﬁwmﬁmﬁﬁm%
1. guriy

2. BIdIpIT

Options :

1. ¥ $Had |

2. % Had 2

3. % 1 3R 2aM

4. % g1 3R 2

Question Number : 123 Question Id : 5038905557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shows the characteristics of torsion?
Options :

1. ¥ Gastropoda

2. % Monaplacophora

3. % Cephalopoda

4. ¥ Aplacophora

Question Number : 123 Question Id : 5038905557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ?ﬂﬁfr@lﬁﬁ@rﬁ?nﬁg (Torsion) o1 faRrraraett o) gwifar 82

Options :



1. ¢ IREIAST

2. % HHETEHIBRT
3. % e
4. % TUATHIBRT

Question Number : 124 Question Id : 5038905558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What term is used for nephridia which discharge their excretory products into the lumen of gut?
Options :

1. % Exocrine

2. % Holocrine

3. ¥ Enteronephric

4. % Exonephric

Question Number : 124 Question Id : 5038905558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jah D o [oT8 o Xeg T UGNT T ST § Sl 310 Sl STl Bl 3Hid & SaHIRIHT H fHag T 82

Options :

Question Number : 125 Question Id : 5038905559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following animals -1. Cartilaginous fishes

2. Frogs
3. Crocodiles



Which of the above animals’ heart auricle consist of single chamber?
Options :

1. ¥ Only 1

2. % Only 1 and 2

3. % Only 3

4. % Only 2 and 3

Question Number : 125 Question Id : 5038905559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁuﬁ«r@aaﬁaﬁmﬁawﬁ

1. DI AT Hesfer
2. Had
3. HIRH=S

SR § T forg IHaR & fad & sifeic § Had U 8 Hef gid1 32
Options :

1. ¢ &Had |

2. % Had | 3R 2

3. % $Had 3

4. % PHad2 3R 3

Question Number : 126 Question Id : 5038905560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The jawless vertebrates are known as-
Options :

1. ¥ Agnatha

2. # Dipnoi

3. % Osteichthyes

4. # Chondrichthynes



Question Number : 126 Question Id : 5038905560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WeS Ied HRAB(HA! P g =T H ST ST 8-
Options :

1. QU

2. % fSUIg

3. % SfReRi

4. % HIfGHURH

Question Number : 127 Question Id : 5038905561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can create electric-fields?
Options :

1. # Dolphins

2. % Turtles

3. % Torpedoes

4. % Porpoises

Question Number : 127 Question Id : 5038905561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o @ o1 faggd-as 51 b 82
Options :

1. % Sl

2. % dhgU

3.¢ E'W(Torpedoes)

4, % W(Porpoises)



Question Number : 128 Question Id : 5038905562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The breathing of blue whales occurs through-
Options :

1. # Skin

2. % Nose

3. ¥ Blowhole

4. = Gill

Question Number : 128 Question Id : 5038905562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& R fhadb gRT Y TG0 Halt 872
Options :

1. % oddl

2. % Alh

3. v SR

4. % TABS]

Question Number : 129 Question Id : 5038905563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many occipital condyle (s) should be there in the skull of a snake?
Options :

1. ¥ One

2. % Two

3. % Nil

4. % Three

Question Number : 129 Question Id : 5038905563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g B! @'EI@:[ T fhde Ty uTd W?ﬂ_ﬁ (occipital condyle) Gl I1feq?
Options :

1. ¥ Uh

2. % T

3. % ¥Y

4. % dH

Question Number : 130 Question Id : 5038905564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements -
1. This type of Immunoglobulin is a type of antibody representing approximately 75% of serum antibodies in humans.
2. It is present in most abundant quantity in the blood circulation

Which type of immunoglobulin is being talked about?
Options :
1. ¥ IgG
2. % IgD
3. % IgM
4. % IgE

Question Number : 130 Question Id : 5038905564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafafed syl iR faar Sifs-

1. 39 UHR &1 RN (FRARAIg o) U YHR BT IN-UABRS (antibody) §, S AT B TATHT 75% HRA IN-UAHRE &1
gfaffiE HRar g |

2. g 3ad TR § T 31fde 0 & A gid1 |

o THR & UfaRemag e &1 a1d &1 ol Y61 87

Options :
1. ¥ 1gG




2. % IgD
3. % IgM
4. % IgEB

Question Number : 131 Question Id : 5038905565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human haemoglobin is a quaternary protein, the structure of which is described as-
Options :

1. #® Dimer of two myoglobin dimers

2. % Tetramer of identical peptide subunits

3. % Tetramer of four different subunits

4. % Tetramer of two different subunits

Question Number : 131 Question Id : 5038905565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 YFABURSIHh o] (SHHraIe) T Iquid® UicH €, S9®! TRa-l &l [y Faiad ¥ ¥ afvfd foear mar g2
Options :

1. % g OEvafed fgaa &1 fgaa

2. % Y Iqq gl BT ad9d

3. % TR M- I A BT A5

4.+ Gl 3T-3{T e GfIc] b1 aged

Question Number : 132 Question Id : 5038905566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With the help of ~ diagram, production of gametes by the parents, the formation of the zygotes, the F1 and F2 plants can be understood.
Options :

1. ¥ Punnett Square

2. % Heterozygous



3. % Test Cross
4. ¥ Monohybrid Cross

Question Number : 132 Question Id : 5038905566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G B Hag I AIAI-dT §RT B (gametes) BT SETEH, THAS(Zygotes) BT FATL F1 3R F2 Tl &) Th 3G I

IO ol bl g |

Options :
1.¥ Eﬁ? PR (Punnett Square)

2. % [AYERIHSH (Heterozygous)

3. % T B (Test Cross)
4. % OERfSS B (Monohybrid Cross)

Question Number : 133 Question Id : 5038905567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The factors or gene on chromosome regulating the physical expression of the characters is called
Options :

1. # Genotype

2. % Phenotype

3. % Allele

4. % Co- dominance

Question Number : 133 Question Id : 5038905567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B H fYd RS S IRIND T J I AE0N BT HIHA B § Bl E SIS
Options :

1. % SiHeRY

2. % IR




3. ¢ g fddhedl
4. % gg-gHIfadr

Question Number : 134 Question Id : 5038905568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following works helped to establish the relationship of a gene to control synthesis of one enzyme?
Options :

1. ¥ The work of George Beadle and Edward Tatum during 1930s on the mould Neurospora crassa

2. # The work of Bateson and Edward Tatum during 1930s on the mould Neurospora crassa

3. # The work of Morgan and Edward Tatum during 1930s on the mould Neurospora crassa

4. % The work of Johansen and Edward Tatum during 1930s on the mould Neurospora crassa

Question Number : 134 Question Id : 5038905568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o ¥ ford Sieqa=-& = U TSI H & WA B A #3- & g S & Hae B RITUT a3 § Hag 12
Options :

1. ¥ 1930 & GR(H & SR IR HdT & I TR 1ol aed R TSTS ¢ &I HH

2. % 1930 P GH b SR TRIART 4T & A TR I 3R TSI ¢l & B

3. % 1930 P GRH P GRM IRIURT o1 & Tid TR AN 3R T8as ¢l &I HH

4. % 1930 P GRH B GRI ST 3R TSTS ¢cH BT HTH IRIRURT HdT & I TR

Question Number : 135 Question Id : 5038905569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the phenomena where different genes interact with each other in a way that influences the phenotype?
Options :

1. ® Pleiotropy

2. % Incomplete dominance

3. ¥ Codominance



4. ¥ Epistasis

Question Number : 135 Question Id : 5038905569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTe AT ST Uah gk & 1Y 9 TRE 9 STasid 6d & Sif A&UITReY (BAICTsY) & HIfad HRd §, 1 39 ge1 &I fdhd & & ST oi1dl &
Options :

1. # agtrlrriﬁm (Pleiotropy)

2. % 3quf grufaar

3. % gEyHIfadm (Codominance)

4. ¢ Ydddl (Epistasis)

Question Number : 136 Question Id : 5038905570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following removes the RNA primers from the lagging strand?
Options :

1. % 3°—>5’ exonuclease

2. % DNA ligase

3. ¥ DNA polymerase I

4. % DNA polymerase III

Question Number : 136 Question Id : 5038905570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied o 9 & gy I® TSHR &I §erdl 82
Options :

1. % 35 TRIIaitol

2. % ST ferst

3. ¢ BITAY UIeiHRST [

4. % ST Ui 111




Question Number : 137 Question Id : 5038905571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Action of topoisomerase leads to change in

Options :

1. # Linking number of linear single stranded DNA

2. # Linking number of double stranded linear DNA

3. # Linking number of closed circular single stranded DNA
4. ¥ Linking number of closed circular double stranded DNA

Question Number : 137 Question Id : 5038905571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aﬁ&m (topoisomerase) P1 foar H ufegd= aran %

Options :

1. # Iy THd IR ST (linear single stranded DNA) Bt TToTeh TRSAT (linking number)

2. % 7w al E\Q IR SOIL{"IQ (closed circular single stranded DNA) P! gIoldh T=AT (linking number)

3. ® §Y MATHR THd IR Siu-T (closed circular single stranded DNA) D1 gIoTeh J=AT (linking number)
4. ¢ SYTMATHR S I SiuT (closed circular double stranded DNA) P ol J=AT (linking number)

Question Number : 138 Question Id : 5038905572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Synthesis of mMRNA on DNA template is:
Options :

1. % Unidirectional

2. % Bidirectional

3. # Bi-directional with the help of Primer
4. ® Uni-directional with the help of primer

Question Number : 138 Question Id : 5038905572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SITT ®UeT (S1.T.T. THdic) R USAEH-3AR.TA.T. (mRNA) T JLAY0T &
Options :

1. ¢ Thfext (feame)

2. % fgfafRe

3. % J3WR 3t g 9§ fgfelRe
4. % YIS @1 Hag 9 ThieRa

Question Number : 139 Question Id : 5038905573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process where the microspores are formed from a pollen mother cell (PMC).
Options :
1. # Microspore tetrad
2. % Pollen grains
3. ¥ Microsporogenesis
4. ¥ Exine

Question Number : 139 Question Id : 5038905573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR AT BT (PMC) § GeAaoY] FiHd gid &1 59 ufshar &l CIRSIGIE
Options :

1. % TYSISIY] IdudD

2. % IRMAHPU

3. + EASISTU[S (Microsporogenesis)

4. % QRN (Exine)

Question Number : 140 Question Id : 5038905574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Lactose is the substrate for which of the following enzyme ?
Options :

1. ¥ Beta-galactosidase

2. % Glucosidases

3. # Beta-glucuronidase

4. % Galactose

Question Number : 140 Question Id : 5038905574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el o TSTTgH & folu 39T (YaReT) H1 HTH Bl &7
Options :

1. ¢ ST ag e

2. % TP IEIZSS

3. % el |IPRHRe

4. % AT
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Question Number : 141 Question Id : 5038905575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gene is the unit of inheritance that controls a specific trait or character and may also be expressed in alternative forms known as
Options :

1. # Central Dogma

2. % Alleles

3. % Phenotypes

4. % Codominance

Question Number : 141 Question Id : 5038905575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST AR ®1 3hTs ©, SN U AfRTY T&01 1 I & Fafd adl § 3R 39 dobfeud &l # +f ayad fohar o1 9abar 5, o/

& U H AT 8

Options :

1. % $HeIg gayUfHar (Central Dogma)
2. ¢ i fddhedl (Alleles)

3. % €Y UR=T (Phenotypes)




4. % EUHIAdT (Codominance)

Question Number : 142 Question Id : 5038905576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total DNA content in one complete set of chromosomes (including all the genes and other parts of DNA) is called a
Options :

1. ¥ Genome
2. # Cytoplasm
3. % Eukaryotic Genome

4. # Prokaryote Genome

Question Number : 142 Question Id : 5038905576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI & U QU1 Ie (Gt ofiF iR SiuT & 3= YT 9fed) § $d ST 9rnh &1 HEI Sl 5|
Options :

1. ¥ S

2. % DIRABT GoH

3. % gHRYIfCH ST

4. % YipNAIC SiFH

Question Number : 143 Question Id : 5038905577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mendel proposed two general rules to consolidate his understanding of inheritance in monohybrid crosses. The law consists of which of the
following?

I. Law of Dominance

II. Law of Segregation

III. Law of Hereditary

Options :
1. % Only I



2.% BothIand 11
3. #* Both II and III
4. % I, 1 and III

Question Number : 143 Question Id : 5038905577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%W@ﬁ%ﬁﬁmﬁwﬁ%%ﬂawmmﬁamlﬁmﬁq%@aﬁ@%ﬂﬁﬁww%?
LU

11. fogarem g

111. 3fTIafRrept |

Options :

1. % $had |

2. ¢ 1 3R 11 gH!

3. % 11 3R 111 gl

4. % 1113111

Question Number : 144 Question Id : 5038905578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of pollen grains contain sporo—pollenin?
Options :

1. ¥ Exine

2. % Pollen cytoplasm

3. # Tapetum

4. % Intine

Question Number : 144 Question Id : 5038905578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRFTHUN & B F U & WRIYIAFA gial 87

Options :




1. ¥ SR

2. % TN HIRBT GH
3. % ¢UcH

4. % 3fq: IIA

Question Number : 145 Question Id : 5038905579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following describes the process of Apomixis?
Options :

1. # Production of seeds after fertilisation

2. ¥ Production of seeds without fertilisation

3. # Production of seeds as result of sexual reproduction

4. % No production of seeds even after sexual reproduction

Question Number : 145 Question Id : 5038905579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifead 7 ¥ S ST (TURIT) B ufehar &1 9o #ar g2

Options :

1. % 8= & 91¢ ool BT IdTeA

2. ¢ o 8= & Sieil &1 Idred

3. % T Yol & URUMARGSY §ioll BT Iadre

4. % Wffp U & a1 Wt Sl BT IaTe T8l gl |

Question Number : 146 Question Id : 5038905580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sutton united the knowledge of chromosomal segregation with Mendelian principles and called it the
Options :

1. ¥ Chromosomal theory of inheritance



2. % Chromosomal theory of Segregation
3. % Chromosomal theory of Hereditary

4. ¥ Chromosomal theory of Behaviour

Question Number : 146 Question Id : 5038905580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 TURE Yy Ul & 1 o1 Heferm Rigidl & Iy st iR 39 Eadl
Options :

1. ¢ IR A &1 ORE Rigid

2. % QUFHUI 1 R Rigid

3. % SR &1 ORE Rigid

4. % AR DI TURE Rigid

Question Number : 147 Question Id : 5038905581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Polyembryony Means:

I. Occurrence of Single Embryo in the seed

II. No occurrence of embryo in the seed

II1. Occurrence of more than one embryo in the seed

Options :

1. * Only I

2. % Only II

3. ¢ Only III

4. % T and III only

Question Number : 147 Question Id : 5038905581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEYOTAT BT 31 §:



I. S § Uhdl YOI i IUTRAFT

I1. §TST § YOT 1 Bl IUrUf Te
I11. YT § Teb 9 3{feeh Yol &1 g
Options :

1. % had I

2. % dhad Il

3. ¢ Had Il

4. % HId 1 MR 11

Question Number : 148 Question Id : 5038905582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of formation of megaspores from the megaspore mother cell is called-
Options :

1. ¥ Megasporogenesis

2. % Megasporangium

3. ¥ Megasporonium

4. ¥ Megasporexis

Question Number : 148 Question Id : 5038905582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIRYR {1 PITRABT Y AU & 9 B Ufchd1 b1 gl A 6 -
Options :

1. ¢ HRGRSHRE

2. % TTRYRIoRY

3. % TTRGRITFH

4. % HIRURIRTY

Question Number : 149 Question Id : 5038905583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Pollen grains are generally spherical measuring about in diameter.
Options :

1. ¥ 25-50 Micrometers

2. % 50-75 Micrometers

3. % 75-100 Micrometers

4. % More than 100 Micrometers

Question Number : 149 Question Id : 5038905583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRNTH Ul JTHTIC: TATPR Bid @ foTahT ST AT+ glarg
Options :

1. ¢ 25-50 HIShIHICR

2. ® 50-75 HIShIHIC

3. % 75.100 ATZHIHIC

4. % 100 ¥ 3P AZHIHC

Question Number : 150 Question Id : 5038905584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Generative Cell of the pollen grain divides to form -
Options :

1. ¥ Two Male Gametes

2. ®# Three Male Gametes

3. ®¥ Four Male Gametes

4. % Five Male Gametes

Question Number : 150 Question Id : 5038905584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRFTHUN 1 S DIRABT FAHITT glep Ia 8-




Options :

1. ¥ ARGHD
2. % G R GHPB
3. % JR R GHD
4. % U R gHD

Question Number : 151 Question Id : 5038905585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cells of the tapetum possess dense cytoplasm and generally have
Options :

1. % More than Four Nucleus

2. ®# More than Three Nucleus

3. # More than Two Nucleus

4. ¥ More than One Nucleus

Question Number : 151 Question Id : 5038905585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ien o PRI A 3 PR 7o7 G § ol S IR R g g
Options :

1. % IR ¥ P s

2. % A 9 3P Hsp

3. % QY YD bsd

4. ¥ TH 9 S Had

Question Number : 152 Question Id : 5038905586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Without associating transiently with initiation-factor () and termination-factor (p), the RNA polymerase is only capable of catalysing which of
the following process?



1. Initiation
2. Elongation
3. Termination

Options :

1. % Only 1
2. % Only 3
3. ¥ Only 2
4. % 1,2and 3

Question Number : 152 Question Id : 5038905586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 5038905587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human chorionic gonadotropin:

Options :

1. % Begins to be produced four months after fertilization
2. % Is produced by the prostate gland

3. # Is produced by Corpus luteum



4. ¥ Is present only if a successful fertilization has occurred

Question Number : 153 Question Id : 5038905587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 5038905588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The testosterone producing cells of the testes are called-
Options :

1. ® Sertoli cells

2. ® Granulosa cells

3. # Spermatogonia

4. ¥ Leydig cells

Question Number : 154 Question Id : 5038905588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 5038905589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An antrum is characteristic of follicle.
Options :

1. % Primary

2. % Secondary

3. # Bone marrow

4. ¥ Graafian

Question Number : 155 Question Id : 5038905589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 5038905590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the release of secondary oocyte from the ovary.
Options :
1. # Oogenesis
2. % Spermatogenesis
3. % Fertilization
4. ¥ QOvulation

Question Number : 156 Question Id : 5038905590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 157 Question Id : 5038905591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Oxytocin is secreted by the

Options :

1. # Adenohypophysis

2. ¥ Neurohypophysis

3. % Zona glomerulosa

4. % Pars intermedia

Question Number : 157 Question Id : 5038905591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # tﬂ’ﬁﬁWl"jﬁf(Adenohypophysis)

2. ¢ df3dT SRUIMBRIY (Neurohypophysis)
3. % ¥ddd X (Zona glomerulosa)

4. % T (Pars Intermedia)

Question Number : 158 Question Id : 5038905592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Nerve impulses are carried from the eye to the brain by the-
Options :

1. ¥ Optic nerve

2. # Cornea

3. # Bipolar cell

4. % Rod and cone cell

Question Number : 158 Question Id : 5038905592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 5038905593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cells found in the choroid plexus that secrete cerebrospinal fluid are-
Options :

1. # Astrocytes

2. % Microglia

3. ¥ Ependymal cells

4. % Oligodendrocytes

Question Number : 159 Question Id : 5038905593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dIRPT HIRABT
2. % JEAdABIEY
3. ¢ JRITD HIRDT

4. ® IUCGH HIRAP]

Question Number : 160 Question Id : 5038905594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A neuron with many short dendrites and a single long axon is a-
Options :

1. ¥ Multipolar neuron

2. % Bipolar neuron

3. # Unipolar neuron

4. ® Varies from region to region

Question Number : 160 Question Id : 5038905594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 5038905595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which hormone from the hypothalamus stimulates the release of FSH from the anterior pituitary?
Options :

1. ¥ GnRH

2. % Oxytocin

3. * luteinizing hormone

4. % Progesterone

Question Number : 161 Question Id : 5038905595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 5038905596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process that sperm undergoes in female genital tract of mammals before fertilization is called-
Options :

1. % Decapacitation

2. % Capacitation

3. % Activation

4. % Deactivation

Question Number : 162 Question Id : 5038905596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 5038905597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The process in which the three germ layers form is called-
Options :

1. # Fertilization

2. # (Cleavage

3. % QGastrulation

4. ¥ Organogenesis

Question Number : 163 Question Id : 5038905597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 5038905598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Coelom is formed from-

Options :

1. # Ectoderm

2. # Endoderm

3. % Mesoderm

4. # Cnidoblast

Question Number : 164 Question Id : 5038905598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 5038905599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Syphilis is caused by which of the following bacterium?
Options :

1. ¥ Treponema pallidum

2. # Leptospira interrogans

3. % Spirochactales

4. # Spirochaetes

Question Number : 165 Question Id : 5038905599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 5038905600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following phrase is used for Eichhornia Crassipes?
Options :

1. ¢ Terror of Bengal



2. * Terror of South
3. % Terror of Bombay
4. % Terror of North

Question Number : 166 Question Id : 5038905600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ STITd BT 3T (Terror of Bengal)

2. % TGO BT 3T (Terror of South)

3. % §id BT 3fddH (Terror of Bombay)

4. % JTR BT 3TdD (Terror of North)

Question Number : 167 Question Id : 5038905601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases was caused due to the fish contamination with mercury?
Options :

1. ¥ Minamata Disease

2. # Ttai-Itai Disease

3. * Yokkaichi asthma

4. % Argyria

Question Number : 167 Question Id : 5038905601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % YipTsdl YA
4. % Jffiffean

Question Number : 168 Question Id : 5038905602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts of the human body is effected the most due to the fluoride pollution?
Options :

1. * Liver

2. * Eyes

3. * Pancreas

4. ¥ Teeth

Question Number : 168 Question Id : 5038905602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 5038905603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes the Alpha Diversity?

1. The diversity of organisms sharing the same habitat or community

2. The diversity of organisms which do not share the same habitat or community

3. The diversity of organisms which has no preference for sharing the same habitat or community

Options :

1. ¥ Only 1



2. % Only2
3. % Only 3
4. # Neither 1, nor 2, nor 3

Question Number : 169 Question Id : 5038905603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 5038905604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods of conservation of biodiversity is used only for threatened animals and plants?
Options :

1. # In Situ conservation

2. ¥ Ex Situ conservation

3. * National parks

4. % Biosphere Reserves

Question Number : 170 Question Id : 5038905604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 5038905605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nilgiri was the first biosphere reserve of India. It was established in which year?
Options :

1. ¥ 1986

2. % 1999

3. % 1988

4. % 1998

Question Number : 171 Question Id : 5038905605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1986

2. % 1999

3. % 1988

4. % 1998

Question Number : 172 Question Id : 5038905606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best represents the approximate temperature of Cryopreservation?
Options :

1. ¥ —130°C



2.9 -196°C
3. % 0°C
4. % -140°C

Question Number : 172 Question Id : 5038905606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 5038905607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following term is used to categorise the species which is at the highest risk of extinction in near future?
Options :

1. % Vulnerable

2. # Rare

3. ¢ Critically endangered

4. # Link species

Question Number : 173 Question Id : 5038905607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 5038905608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be a reason for biodiversity losses?
1. Alien species invasion
2. Co-extinctions

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 174 Question Id : 5038905608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 5038905609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following gases -

a. Carbon dioxide
b. Methane



c. CFCs
d. Nitrous Oxide
Arrange these gases according to the decending order of their relative contribution to total global warming.

Options :
1. # adcb
2. % dcba
3. % abcd
4. % acbd

Question Number : 175 Question Id : 5038905609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # adcb

2. % dcba

3. % abcd

4. % acbd

Question Number : 176 Question Id : 5038905610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term living fossil refers to a-

Options :

1. # Life like fossil well preserved in amber

2. # Fossil formed from a living animal

3. % Living animal which is about to be fossilized

4. ¥ Living organisms showing some very primitive characters



Question Number : 176 Question Id : 5038905610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 5038905611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one among the following is the most important factor in speciation?
Options :

1. #® Geographical isolation

2. ¥ Reproductive isolation

3. # Ethological isolation

4. ® Ecological isolation

Question Number : 177 Question Id : 5038905611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 5038905612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fertilization of human egg most often takes place in the
Options :

1. # Ovary

2. % Uterus

3. ¥ Ampulla

4, % Cervix

Question Number : 178 Question Id : 5038905612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 5038905613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is produced mainly by the Corpus luteum in the ovary following ovulation.
Options :
1. ¥ Progesterone
2. % FSH
3. % LH
4. % hCG

Question Number : 179 Question Id : 5038905613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ GIoRexA
2. % Yedleud gHH(FSH)
3. % Uid fUsar (LH)
4. % UM SRY MHSICIU (hCG)

Question Number : 180 Question Id : 5038905614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which of the following structures is the secondary oocyte ovulated?
Options :

1. # Corpus luteum

2. ¥ QGraafian follicle

3. % Primary follicle

4. # Germinal epithelium

Question Number : 180 Question Id : 5038905614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 5038905615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Secretion of adrenaline hormone causes nervousness and irritability as an effect of which of the following?
Options :

1. * Air Pollution

2. * Water Pollution

3. #* Land Pollution

4. ¥ Noise Pollution



Question Number : 181 Question Id : 5038905615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSATATEA 8THH &1 U1d Fgfafad # ¥ frad uud & 0 & garige 3R Risfusias &1 &R a9d1 82
Options :

1. ® 91 Uy

2. % O Uyl

3. % Y Uy

4. ¢ & TGl

Question Number : 182 Question Id : 5038905616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An endemic species is

Options :

1. # One found in many different geographic areas
2. ¥ One found naturally in just one geographic area
3. % One found only on island

4. ® One that has been introduced to a new geographic area

Question Number : 182 Question Id : 5038905616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 5038905617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the principal health concern of Ozone depletion in the Stratosphere?
Options :

1. ¥ Cancer and other damage to the skin

2. # Tlankovitch cycle

3. # Temperature inversions

4. % Hadley cell

Question Number : 183 Question Id : 5038905617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 184 Question Id : 5038905618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the concept of Joint Forest Movement (JFM) launched in India?
Options :

1. ¥ 1980s

2. % 1990s

3. %® 1960s

4. % 1970s

Question Number : 184 Question Id : 5038905618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 5038905619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Allergy and anaphylaxis are due to-
Options :

1. ¥ IgE

2. % IgA

3. % IgG

4. % IgM

Question Number : 185 Question Id : 5038905619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teroll 3R cHoenfed frde SR gl 87
Options :
1. ¥ IgE
2. % IgA
3. % IgG
4. % IgM

Question Number : 186 Question Id : 5038905620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cells that release histamine and other vasoactive substances in response to allergens are-



Options :

1. #* Neutrophils
2. % Macrophages
3. % NK cell

4. ¥ Mast cells

Question Number : 186 Question Id : 5038905620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSl o fdifohan # feReTg iR o alfgb™ishy Uard Bie arell SRS o
Options :

1. % IERFRET (Neutrophils)

2. % OpIthol (Macrophages)

3. % T HIRIBT (NK cell)

4. ¥ ARC DI (Mast cells)

Question Number : 187 Question Id : 5038905621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following secondary metabolite is a toxin?
Options :

1. % Morphine

2. ¥ Ricin

3. ¥ Curcumin

4. % Cartenoids

Question Number : 187 Question Id : 5038905621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & € S fedias Juraaas T SifR 82

Options :



1. # ﬂ'\ﬁﬁ?_ff(Morphine)

2. ¢ RTH (Ricin)

3. % Wﬁﬁq(Curcumin)

4, ® W(Cartenoids)

Question Number : 188 Question Id : 5038905622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which temperature range enzymes are most functional?
Options :

1. % 10°-80°C

2. % —15°--25°C

3. % 35%-40°C

4, % 50°-60°C

Question Number : 188 Question Id : 5038905622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg T AT o foruae wa Siftes forasitel gid &7
Options :

1. % 10°-80°C

2. % —15°--25°C

3. ¥ 359 -40°C

4. % 50°-60°C

Question Number : 189 Question Id : 5038905623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1838 and formulated the “cell theory.”
Options :

1. ¥ M.J. Schleiden, Theodore Schwann




2. % Theodore Schwann, Robert Hooke
3. ® Robert Hooke, Anton Van Leeuwenhoek
4. % Anton Van Leeuwenhoek, M.J. Schleiden

Question Number : 189 Question Id : 5038905623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1838 H 3R = vopifRrepT Ry ufdurad faban|

Options :

1. ¥ TH. 3. “vﬁ%_*{, 3SR A (M.J. Schleiden, Theodore Schwann)

2. % YISk T, ﬁ@é@ (Theodore Schwann, Robert Hooke)

3. % ac gh, QE:F[ GIG] ?ﬁ@m (Robert Hooke, Anton Van Leecuwenhoek)

4. ® QC\I'-I GIGH ﬂ‘\lda'ﬁs\l Uch, UH. . Tied (Anton Van Leeuwenhoek, M.J. Schleiden)

Question Number : 190 Question Id : 5038905624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asterias and Ophiura are examples of
Options :

1. # Phylum - Arthropoda

2. % Phylum - Chordata

3. % Phylum - Echinodermata

4. ® Phylum - Hemichordata

Question Number : 190 Question Id : 5038905624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRTH (Asterias) 3R HRART (Ophiura) CARTARRUR.
Options :

1. % Tg - mfarsT (Phylum - Arthropoda)

2. % FY - Prscl (Phylum - Chordata)



3. ¢ U9 - THRAISHel (Phylum - Echinodermata)
4. % Y - gHipISCl (Phylum - Hemichordata)

Question Number : 191 Question Id : 5038905625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ecological Pyramids can determine

Options :

1. ¥ The energy and biomass relationship between the organisms at different tropic levels
2. # The level at which different organisms stand in the food chain

3. # The energy which the different organism show in the different atmosphere

4. ® The life cycle of an organism

Question Number : 191 Question Id : 5038905625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BINIRERENIEE] feid o o B

Options :

1. ¢ Taftre ¥ Wl R offal & o ol SR S ey

2. % @Y e § fafte Sfia Y TR R TS g &

3. % gg Soll ol 13- Sitg - arararon & veikid axd 8

4. % T S Bl Siid b

Question Number : 192 Question Id : 5038905626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect regarding Bt Cotton?
I. Bt stands for Bacillus thuringiensis
II. The strains contain crystals which contain a toxic insecticidal protein

Options :
1. % Only 1
2. % Only II



3. ® BothIand II
4. « Neither [ nor 11

Question Number : 192 Question Id : 5038905626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§1¢t (Bt) Bied & oy & Fafafad # ¥ SF 91 HyF 7dd 82
I. Bt BT Adds SUerd Yo 8

1. IUNT} & 39 391 # faurad dleameie N giarg|
Options :

1. % dhad |

2. % Had I

3. % 3R 11 gHl

4. TAIRAT I

Question Number : 193 Question Id : 5038905627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of the ‘Madras school’ of conformational analysis of biopolymers?
Options :

1. % H. G. Khorana

2. % Anna Mani

3. # S. S. Bhatnagar

4. ¥ G. N. Ramachandran

Question Number : 193 Question Id : 5038905627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGN W 311 H-HHR TR 31 SOy & RIMH DI 42
Options :

1. % T, Sff. QR

2. ® AT AT




3. % TY. TY. HeATR
4. ¢ St U9, JHAGA

Question Number : 194 Question Id : 5038905628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a choromosome there is a specific DNA sequence which is responsible for initiating replicaton. What is it called?
Options :

1. # Plasmid

2. % Origin of replication

3. ¥ Promotor

4. ® Operator

Question Number : 194 Question Id : 5038905628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 01 G H U fafRTy ST 3 H g1 § ot Widdhiaa- o ot StRer! &, 39 o1 Hed 62

Options :

1. % WS

2. ¢ UiAPIad &1 I
3. % g

4. % IR

Question Number : 195 Question Id : 5038905629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the options and determine which of the following is not component of yeast artificial chromosome?
Options :

1. % Centromere

2. % Telomere

3. % Origin of replication



4.« COS site

Question Number : 195 Question Id : 5038905629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fapedl W faR &% iR il = & Fafafea § § o Wik S0 s o1 gcw 761 82
Options :

1. = @Ejﬁl’ﬁl? (Centromere)

2. % TAMR (Telomere)

3. % Ufdpfd &I @M (Origin of replication)

4. ¢ 13T AIZC (COS site)

Question Number : 196 Question Id : 5038905630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered Restriction endonuclease enzymes?
Options :

1. ¥ Smith and Nathans

2. % Baiger

3. ¥ Waxman

4. % Fleming

Question Number : 196 Question Id : 5038905630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TSIfaTs TAH o1 Wiol b &1 e
Options :

1. ¢ 81y SR iy

2. % §R

3. % JaqEd

4. % TRATERT




Question Number : 197 Question Id : 5038905631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which cells are most affected by AIDS?
Options :

1. % B-cells

2. % T-cells

3. % Monocytes

4. % Neutrophils

Question Number : 197 Question Id : 5038905631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSH H 370 9 F Il SITAPT Jay 31 gHIiad gidl 82
Options :

1. % Sl DIRIBIY

2. ¢ SBIRBIY

3. % QHNECY

4. % ZcIfthel

Question Number : 198 Question Id : 5038905632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mendel would have explained the Law of independent assortment, if was known at his time.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Linkage

2. Recombination

3. Autosomes



4. Heterogamete

Question Number : 198 Question Id : 5038905632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hed A WA FMbRu & g0 BT re &1 gif, afe I FHY | J1d BIcl|
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. Hecfddl

2. Gt
3. Sy

4. fayggms

Question Number : 199 Question Id : 5038905633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which part connects foetus to placenta?
Options :

1. % Umbilical cord

2. % Amnion

3. ® Chorion

4. # Yolk sac

Question Number : 199 Question Id : 5038905633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T YT YOT BT A1d ¥ TS @l 87

Options :

R RIEI]




2. % YUIEROT
3. % Hay
4. % S it

Question Number : 200 Question Id : 5038905634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are organisms that completely lack a cell wall and are the smallest living cells known and can survive without oxygen?
Options :

1. % Eubacteria

2. ® (Cyanobacteria

3. # Heterocysts

4. ¥ Mycoplasma

Question Number : 200 Question Id : 5038905634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁﬁﬁ@%%ﬁ?ﬁqﬁmﬁmﬁ%ﬁ%ﬁ?ﬂﬁ@ﬂ@ﬁﬁﬁ%ﬁ%@&mﬁ%m@ﬁﬁﬁm
o

Options :

1. % gagcian

2. % A daEIRA

3. % gRIRRE

4. ¥ TZBIEITSH
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Question Number : 201 Question Id : 5038905635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A protozoan reproduces by binary fission. What will be the number of protozoans in its population after eight generations?
Options :

1. % 128

2. % 32

3. % 64

4. ¥ 256

Question Number : 201 Question Id : 5038905635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TP THHNIG Uolld T fad e gRT TAodIiad H3dl | 313 Uil & a8 SHD! ST uRed § UhH NI Uoiid o TedT fra =it gt 2
Options :

1. % 128

2. % 32

3. % 64

4.9 256

Question Number : 202 Question Id : 5038905636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a society, pattern of age of population is directly responsible for the kind of population growth, because-
Options :

1. # Younger females have more offspring than do older females

2. ¥ Different age group have different reproductive capabilities

3. # The more the people are educated, the less do they want to reproduce

4. % The habits of the newer society leads to less reproductive ability

Question Number : 202 Question Id : 5038905636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JATS §, SIS B 311 BT Yo ST gfg & UbR & forg Wa IR 1R SieR g @, wife-
Options :

1. % g3} Hrerel B o § il "arel @t Ga sifie gidt 8

2. ¢ S(QT-ATHT 3T T T ST STHT Yol &Y Bl §

3. % T S1fdres anT RIférd 81 €, a1 81 U 9 ITedie -1 d18d §

4. % U IANS B el I U &HdT HH Bl &

Question Number : 203 Question Id : 5038905637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Western ghats are known as



Options :

1. ¥ Hot-spot of biodiversity in India

2. % Hot-spot of reserved sanctuary in India
3. # Best wildlife protection India

4. ® Best reserved national park in India

Question Number : 203 Question Id : 5038905637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afget a1t &1 & U | A ST g |
Options :

1. ¢ YRd # o9 fafdedr &1 gle-wie

2. % YRJ H SRIE 3HIRUY T gle-Wie

3. % FAIY gIoitd TREUN HRd

4. % YR H YI9Y SRIEd IS I

Question Number : 204 Question Id : 5038905638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jim Corbett was developed as

Options :

1. ¥ First National Park of India

2. # First Wildlife Sanctuary of India

3. # First Protected Bird Reserve

4. # First Protected Forest for Endangered Species

Question Number : 204 Question Id : 5038905638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oA Pidc &I fad U H fawRid foar mar um

Options :




1. ¢ HRd 1 Ugell AP I

2. % YRd B Ugdl aIoiid SUIRTY

3. % Ugq IRfeérd geft feord

4. % WU yelfaal o ford uge TRféd o=

Question Number : 205 Question Id : 5038905639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rare and Endangered Species are given under which of the following?
Options :

1. # Black Data Book

2. ¥ Red Data Book

3. ¥ Blue Data Book

4. % Green Data Book

Question Number : 205 Question Id : 5038905639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy SR v ettt &t fafoiad & 9 faraes dgd fear man g2
Options :

1. % &b ST P

2. /IS ST gD

3. % s ScTgd
4. % I SATH

Question Number : 206 Question Id : 5038905640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following describes the littoral zone?

1. The zone at the edge of a lake or ocean which is alternatively exposed to air and immersed in water
2. The zone at the middle of a lake or ocean which is alternatively exposed to air and immersed in water
3. The zone at the both the ends of a lake which is alternatively exposed to air and immersed in water



Options :

1. ¥ Only 1

2. % Only 2

3. % Only 3

4. ® Neither 1 nor 2 nor 3

Question Number : 206 Question Id : 5038905640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad & @ ®1F I &9 &1 0 HRdl 82

1. U9 910 O TR & fh-IR BT & Sl dbiedd 0 I 841 & AU H ¢ 3R 1 § ST g3 §
2. U A T HeNIFR & dd &1 & Sl db il U 3 g1 & U H g 3R U1 H a1 g g
3. T 1T & ST RIRI & & S dob el 0 I 84T P YU H 3 3R It 7 g gan g
Options :

1. ¢ &ad 1

2. % $Had 2

3. % $ad 3

4% A1, AE 2 IRATE 3

Question Number : 207 Question Id : 5038905641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following will represent low stability and high resilience?

Options :

1. ¥ An ecosystem which can be easily damaged but can recover after some time if damaging effect stops

2. % An ecosystem which cannot be easily damaged but can recover whatever damaged is caused after some time if damaging effect stops
3. % An ecosystem which can be easily damaged and cannot recover even after damaging effect stops

4. % An ecosystem which cannot be damaged at all

Question Number : 207 Question Id : 5038905641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 & @ o w1 g fRRdr 3R 3= adiars &1 ufafafta s

Options :

1. ¥ T UIRIUTID! oF S ST ¥ &fURd 81 Ahell § Aich- $© T d1G 31 8l bl § 3R gIH®R® WHId &G g1 ol §

2. % U YRR dF Fordt ST ¥ effcyr T8t fovat o ehdl 8, Qe & 0T 918 Sl JHUTH g3 § 34 31 &R Udhdl § a1
TP RE THTd S B SdT &

3. % U ORI dF S ST I &ffchiRd 81 Tl § 3R gTH®R® WHIG &G 81H & a1 H 31 181 8l Tdbdl

4. % U UIRFRUTIBT o ot e ot eifarwred 1€t &) Gepa

Question Number : 208 Question Id : 5038905642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organs is affected in jaundice?
Options :

1. ¥ Liver

2. % Heart

3. # Kidney

4. ® Lungs

Question Number : 208 Question Id : 5038905642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

tiferan & frafafad & 9 o9 1 o yuifad giar 82
Options :

1. ¥ TPd

2. ®¥ gad

3. % T

4. % hihg

Question Number : 209 Question Id : 5038905643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The individual mono saccharides are linked by a to form a polysaccharide.
Options :

1. ¥ Glycosidic bond

2. # Peptide bond

3. % Ester bond

4. ¥ Phosphodiester bond

Question Number : 209 Question Id : 5038905643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ITT-3{T UH BT Uh I IS BId &, Ol Th JgRaIzs (U arIzs) S g |
Options :

1. ¢ TASHINRS! §¢4 (Glycosidic bond)

2. % UPI3S g4 (Peptide bond)

3. ® TR Y (Ester bond)

4. % HIOHISEURR §eq (Phosphodiester bond)

Question Number : 210 Question Id : 5038905644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many chambers are present in Crocodile's heart?
Options :

1. %2

2.%3

3.¥ 4

4. %5

Question Number : 210 Question Id : 5038905644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRYS & &4 1 fbd- Fef 8id 82

Options :



1. % 2
2.%3
3.4
4. %5

Question Number : 211 Question Id : 5038905645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which valve is present in the junction of right artery and ventricle in a human heart?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Mitral valve

2. Bicuspid valve

3. Tricuspid valve

4. Seminular valve

Question Number : 211 Question Id : 5038905645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ha g0 H afe-it 4reT 3R Feg & Sia= § ©F 7 aled AN 8idT 82
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. &4 HUIC

2. fgaart dure

3. THYUS (FacHl) dure
4. QTR HUIC



Question Number : 212 Question Id : 5038905646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the excretory organ of cockroach?
Options :

1. # Nephridia

2. ¥ Malpighian tubules

3. % Kidney

4. % Flame cell

Question Number : 212 Question Id : 5038905646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GREFEIRSSIE NS

Options :

1. ® gddhdh (Nephridia)

2. « Bedit AfereTy (Malpighian tubules)
3. % Tal (Kidney)

4. % ST HIRABT (Flame cell)

Question Number : 213 Question Id : 5038905647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Henle's loop is present in the of human.
Options :

1. # Lungs

2. ¥ Kidney

3. % Nephridia

4. % Blood

Question Number : 213 Question Id : 5038905647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
&=l UTRT AW & ¥ JufRa 3|
Options :

1. % Ththg

2. Tl

3. ¥ dddhdh (Nephridia)

4, % Jqd

Question Number : 214 Question Id : 5038905648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nephron is the structural and functional unit of
Options :

1. # Lungs

2. ¥ Kidney

3. # Pancreas

4. # Brain

Question Number : 214 Question Id : 5038905648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B B WATHTD 3R HTATHD 35S 6|
Options :

1. % Ththg

2. ¥ i

3. % HWURKY

4. % TRETSD

Question Number : 215 Question Id : 5038905649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which process is used to remove urea from the blood?
Options :

1. # Excretion

2. % Digestion

3. ¥ Hemodialysis

4. ¥ Sweating

Question Number : 215 Question Id : 5038905649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yo ¥ g1 B g & fore ford wfohar o1 SuaiT fosan ST g2
Options :

1. % Halgo

2. % U

3. ¥ gHISHIIRY

4. % G

Question Number : 216 Question Id : 5038905650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frontal part of skull is made up of bones.
Options :

1.¥ 14

2. % 23

3.% 24

4, % 32

Question Number : 216 Question Id : 5038905650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QIIST BT 3 T SR BT T T B

Options :



1.9 14
2. % 23
3.% 24
4, % 32

Question Number : 217 Question Id : 5038905651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The joint between humerus and pectoral girdle is
Options :

1. * Hinge joint

2. % Ball and socket joint

3. # Pivot joint

4. % Saddle joint

Question Number : 217 Question Id : 5038905651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIHRY 3R 39 Agell & o9 & Gy HEd B!
Options :

1. % ool Y (Hinge joint)

2. ¢ W LGN RSID] (Ball and socket joint)

3. % Wﬂﬁf (Pivot joint)

4. % JSA NS (Saddle joint)

Question Number : 218 Question Id : 5038905652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of vertebrates are without any amnion; they are called anamniota. Which of the following belongs to this group?
Options :

1. # Fish



2. # Reptiles
3. % Fishes and amphibians
4. ¥ Amphibians and Reptiles

Question Number : 218 Question Id : 5038905652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HABIbY! H Teh g & FoFTH I (amnion) IR &1 8; 51 GG DI TAH3NCT gl Wil & | Faferlead & J &1 1 53 I H 31l &2
Options :

1. % Tl

2. % WU

3. ¢ HBTel SR IHUTR

4. % JUTAR AR IgU

Question Number : 219 Question Id : 5038905653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Retrogressive metamorphosis is commonly seen in

Note: For this question, dlscrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Frog

2. E.coli

3. Ascidia

4. Snake

Question Number : 219 Question Id : 5038905653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR HRTUTIC (Retrogressive metamorphosis) THAR WR AW S g



Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Heh |

2.3 P A

3. URifEaT H

4. 9O H

Question Number : 220 Question Id : 5038905654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the first visceral arch?

Options :

1. #® Hyoid arch

2. % Mandibular arch

3. # Branchial arch

4. % Aortic arch

Question Number : 220 Question Id : 5038905654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DT YA T Y (visceral arch) %?
Options :

1. % $HEHI AU (Hyoid arch)

2.9 3 ?ﬁﬁﬂ dIU (Mandibular arch)

3. % Mraam (Branchial arch)

4. % HIYH! d1Y (Aortic arch)



Discipline7

Group Number : 12

Group Id : 50389074

Group Maximum Duration : 0
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Group Marks : 20
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Discipline7
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Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20
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Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 5038905655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of jaw attachment is found in mammals?
Options :

1. # Hyostylic condition

2. % Autostylic condition



3. # Holostylic condition

4. ¥ Craniostylic condition

Question Number : 221 Question Id : 5038905655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTRAl # 5T YR &1 SaST YD (jaw attachment) TTIT SITAT 82
Options :

1. % DidHhl-Fdfad fRufd (Hyostylic condition)

2. % aidfad fRUfT (Autostylic condition)

3. % graReTsioe fUfd (Holostylic condition)

4. ¢ pIAReTRA® fRUFT (Craniostylic condition)

Question Number : 222 Question Id : 5038905656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The lateral ventricles remain in communication with the third ventricle by a small opening called
Options :

1. ¥ Foramen of Monro

2. # Foramen of panizza

3. ® Fossa ovalis

4. ® Basal ganglia

Question Number : 222 Question Id : 5038905656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT S U B Y AT gRT TR A & 91y SR # Ed B
Options :

1. ¢ BRIA 3% J-RI

2. ¥ RTAA 31 ufrssn

3. % 3fSIHR WId (BT iafer)




4. % 99 TIMHD

Question Number : 223 Question Id : 5038905657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thyroid glands produces a hormone called
Options :

1. % TSH

2. % ADH

3.9 T4

4. % FSH

Question Number : 223 Question Id : 5038905657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (UrEieS WA AT g1 T JaTed BRal B
Options :

1. # TSH

2. % ADH

3.9 T4

4. # FSH

Question Number : 224 Question Id : 5038905658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of kidney is found in Frog?
Options :

1. % Pronephric type

2. ¥ Mesonephric type

3. % Metanephric type

4. # Primitive type



Question Number : 224 Question Id : 5038905658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heoh 1 {5 UHR P1 gaeb Urdl el 82
Options :

1. % TAflhed TSR

2. ¢ TS UHR

3. % HeMhd UHR

4. % IACAYPR

Question Number : 225 Question Id : 5038905659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of Ambystoma, the phenomenon of attainment of sexual maturity in larval phase is called
Options :

1. # Juvenile phase

2. # Reproductive phase

3. % Neoteny

4. ¥ Maturity

Question Number : 225 Question Id : 5038905659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fiem §, fEHe (@mah) R S 99 RIS I A B OeT ! HeI Sl o
Options :

1. % fHIR TROr (Juvenile phase)

2. # Y[ =RUT (Reproductive phase)

3. ¢ RRfSYar (Neoteny)

4. % URUSHAT (Maturity)

Question Number : 226 Question Id : 5038905660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Jacobson's organ is useful in the process of communicating chemical messages in which organism?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Snake

2. Cat

3. Rat

4. Monkey

Question Number : 226 Question Id : 5038905660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P I Sita H RS WM B WU B 31 ufehar & Sieead S Iudt g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 91

2. foreeit

3. g1
4. 96

Question Number : 227 Question Id : 5038905661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is considered a living fossil?
Options :

1. ¥ Tuatara



2. * Turtle
3. #* Rhinocerous
4. # Tiger

Question Number : 227 Question Id : 5038905661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiead o @ ®1F e Sifad Siiarsd @1 i g2
Options :

1. ¥ C3HICRI (Tuatara)

2. % GH (Turtle)

3. % g

4, % dY

Question Number : 228 Question Id : 5038905662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
______1is known as golden era of reptile.
Options :

1. # Phanerozoic era

2. # Cenozoic era

3. ¥ Mesozoic era

4. % Paleozoic era

Question Number : 228 Question Id : 5038905662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

POl &1 g Hel T g

Options :
1. % Fagiart
2. % I SIagT



3. ¥ Hoild] Agldhed
4. % QRISId] AEThed

Question Number : 229 Question Id : 5038905663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The covering of brain is known as
Options :

1. # Suture

2. % Pleura

3. % Meninges

4. % CSF

Question Number : 229 Question Id : 5038905663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS & TR Bl & U H THET A8
Options :

1. % QUG BT oS

2. % eI

G ECANEIBETI)

4. % HTIUP.

Question Number : 230 Question Id : 5038905664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Outer subdermal fat layer of aquatic mammal is known as:
Options :

1. % Skin

2. # Fat bodies

3. ¥ Blubber



4. ¥ Epidermis

Question Number : 230 Question Id : 5038905664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR B STE SUCE 39T IR el o
Options :

1. % oddl

2. % HIdIRR

3. ¢ faffadn (seR)

4. % STl (TUsiH)

Question Number : 231 Question Id : 5038905665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not a part of lymphatic system?
Options :

1. # Tonsil

2. % Adenoids

3. % Spleen

4. ¥ Stomach

Question Number : 231 Question Id : 5038905665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T A BT 3wl et 82
Options :

1. % TGOS (Tonsil)

2. ® HEYA (Adenoids)

3. % TﬁBT(Spleen)

4. ¥ 0T



Question Number : 232 Question Id
Orientation : Vertical

: 5038905666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
All single celled eukaryotes are placed under

Options :

1. #* Monera
2. ¥ Protista
3. # Animalia

4. % Bacteria

Question Number : 232 Question Id
Orientation : Vertical

: 5038905666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Tt T d DIRIGT I TG G (GHRACE) & il 39 o g

Options :

1. % TR

2. ¢ Yifewn
3. % Ay
4. % Starg

Question Number : 233 Question Id
Orientation : Vertical

: 5038905667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is responsible for causing “Red Tides™?

Options :

1. ¥ Gonyaulax
2. % Euglena

3. % Slime moulds
4. # Chrysophytes

Question Number : 233 Question Id

: 5038905667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafad 7 ¥ & "ad SaR" Ue1 B & forw iR 82
Options :

1. ¢ Th'[eltl'[aEFH(Gonyaulax)

2. % T@W(Euglena)
3. % WW (Slime moulds)

4. % HISAHIZCY (Chrysophytes)

Question Number : 234 Question Id : 5038905668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If S = Species richness, A = Area, Z = slope of the line (regression coefficient), C = Y-intercept, then on a logarithmic scale, the species-area
relationship is a straight line described by the equation —

Options :

1. % logS=1logC/Zlog A
2. % logS=logC-Zlog A
3. % logC=logS-Zlog A
4. ¥ logS=1logC+Zlog A

Question Number : 234 Question Id : 5038905668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEI TR S = S T, A = 87, 2 =X@ 819, C = Y - 3(d: WS (3c4Y) B, ) AU UAM TR STy &5 Jay T el ar g=ifar g i
fob e Tt gRT UGRA 3 -

Options :

1. # logS=1logC/Zlog A

2. % logS=logC-ZlogA

3. % logC=1logS-ZlogA

4. ¥ logS=1logC+Zlog A

Question Number : 235 Question Id : 5038905669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bipolar neurons are found in

Options :

1. ¥ Retina of eye

2. % Cerebral cortex

3. % Embryonic stage

4. ¥ Heart

Question Number : 235 Question Id : 5038905669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgedia dieifRme o g ST 8|
Options :

1. ¥ P yea H

2. % YORKTSD degpe |

3. % YUraRT Y

4. % gegd

Question Number : 236 Question Id : 5038905670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kranz anatomy is found in plant.
Options :

1. % C,

2. % G5

3.9 Cy

4. % CAM

Question Number : 236 Question Id : 5038905670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FHATRHE O H US|
Options :

1. % C,

2. % C4

3.9 Cy

4. % CAM

Question Number : 237 Question Id : 5038905671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Fungi is commonly known as Imperfect Fungi?
Options :

1. # Phycomycetes

2. % Ascomycetes

3. % Basidiomycetes

4. ¥ Deuteromycetes

Question Number : 237 Question Id : 5038905671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Ha® & Ul Hawd 1 Had g2
Options :

1. % tl’>—Isﬁ'lzl'lgﬁl_cﬁﬁ'[(Phycomycetes)
2. % mﬂmmscomycetes)

3. % SRAfSTHRRIAS (Basidiomycetes)
4.9 m(Deuteromycetes)

Question Number : 238 Question Id : 5038905672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which type of Chlorophyll is present in Rhodophyceae ?
Options :

1. % Chlorophyll a,b

2. # Chlorophyll a,c

3. % Chlorophyll a,d

4. % Chlorophyll c,d

Question Number : 238 Question Id : 5038905672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JASHTEE H fhd THR &1 FaRIthd oG aidl 82
Options :

1. % a@ﬁﬁb_('fa,b

2. % mﬁb_c'fa,c

3. ¢ El?hﬁfeb_ﬂa,d

4. ® Wc,d

Question Number : 239 Question Id : 5038905673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Coelom originates from which germinal layer?
Options :

1. % Ectoderm

2. % Endoderm

3. ¥ Mesoderm

4. % Vacuoles

Question Number : 239 Question Id : 5038905673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el forg Yol TR & Sa 8IaT /2

Options :



1. % §Te @dn
2. % 3iq: ol
3. ¢ Hioled
4. % IgYHT

Question Number : 240 Question Id : 5038905674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which organism doesn’t have Coelom?
Options :

1. # Nereis

2. # Pheretima

3. % Hirudinaria

4. ¥ Platyhelminthes

Question Number : 240 Question Id : 5038905674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for St & Wl (PIeam) el gidl 82
Options :

1. % 9Rk¥

2. % TpfeHm

3. % ERESMINAT

4. ¢ @icTeiHdTS

Discipline8
Group Number : 13
Group Id : 50389075
Group Maximum Duration : 0

Group Minimum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 5038905675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which organ is known as graveyard of RBC?
Options :

1. * Blood

2. % Spleen

3. % Tonsil

4. % Stomach

Question Number : 241 Question Id : 5038905675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ATc Yo V131 P B & U H f5T [T &I ST oI 82
Options :

1. % Jdd

2. ¢ gl

3. % TAGfUSH] (CT-ael)

4. % Ue

Question Number : 242 Question Id : 5038905676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Blood is a fluid tissue.
Options :

1. # Muscle

2. ¥ Connective

3. ® Epithelial

4. % Nervous

Question Number : 242 Question Id : 5038905676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IHI TP &d SdP g
Options :

1. % Uzft (@igush)

2. ¥ TSl

3. % 3Uhdl

4. % df3e1

Question Number : 243 Question Id : 5038905677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Human heart consists of which tissue?



Options :

1. % Epithelial

2. % Connective, Epithelial
3. # Muscular, Connective

4. ¥ Neural, muscular, Connective, Epithelial

Question Number : 243 Question Id : 5038905677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qMd gy {59 Sae Q 911 §idT 82
Options :

1. ® 3hdl

2. % TrSll, IuHdr

3. % U (@iguRdh, g

4. ¢ 31, TR (HIGURN), TgIel, Iudmen

Question Number : 244 Question Id : 5038905678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s the first body segment of earthworm.
Options :

1. # Peritoneum

2. # Prostomium

3. ¥ Peristomium

4. # Epithelium

Question Number : 244 Question Id : 5038905678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U BT Uge IR T gl

Options :



1. # aﬁaﬁ'&lﬂ(Peritoneum)

2. % W (Prostomium )
3.¢ Cli?ﬂ:@ (Peristomium)
4. % JUdhdll (Epithelium )

Question Number : 245 Question Id : 5038905679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Earthworm bears a dark band of glandular tissue called Clitellum, it is present in
Options :

1. % 12-13 segment

2. % 13-14 segment

3. ¥ 14-16 segment

4. % 13- 15 segment

Question Number : 245 Question Id : 5038905679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U (3rfad) B Ufd Sasw ard Tl &1 gaffoie (clitellum) F8d 8, T8 AEARI
Options :

1. % 12-13TS

2. % 13-14 T8

3.9 14-16 TS

4. % 13-159S

Question Number : 246 Question Id : 5038905680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The respiratory organ/organs of adult Frog is/are

Options :
1. # Gill



2. % Trachea
3. % Book gill
4. ¥ Lungs and skin

Question Number : 246 Question Id : 5038905680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR W B/ 4T 3T EEIGEEN
Options :

1. % |

2. % g ol

3. % Qo™

4. ¢ Bhg 3R T

Question Number : 247 Question Id : 5038905681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cells function as nurse cells for the sperm?
Options :

1. % Leydig cell

2. % Scrotum

3. ¥ Sertoli cell

4, % Acrosome

Question Number : 247 Question Id : 5038905681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRyd o O &1 T SR B & o T HIRAB13M & =0 J ST el 62

Options :

1. % WSS PHIRBI (Leydig cell)
2.8 qﬁl'UTa'ﬁW(Scrotum)




3. ¢ geiall BIBTY (Sertoli cell)
4. % FUUSH (Acrosome)

Question Number : 248 Question Id : 5038905682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Testosterone is a . hormone.
Options :

1. ¥ Steroid hormone

2. # Peptide hormone

3. % Thyroid hormone

4. # Pregnancy hormone

Question Number : 248 Question Id : 5038905682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R IR

Options :

1. ¥ WIS g

2. % UPISS g

3. % YRRISS gHIA

4. % YT BIHM

Question Number : 249 Question Id : 5038905683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_______1is known as birth hormone.
Options :

1. # Prolactin

2. % Oxytocin

3. % FSH



4. % LH

Question Number : 249 Question Id : 5038905683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ ®ISHEEA S T H TSR
Options :

1. % Paifdea

2. ¢ I

3. % Uhuyud

4. % TId

Question Number : 250 Question Id : 5038905684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of placenta is found in cats and dogs?
Options :

1. # Diffuse placenta

2. ¥ Zonary placenta

3. # Discoidal placenta

4. ® Meta Discoidal placenta

Question Number : 250 Question Id : 5038905684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeeat ofR Tl # ford TR &1 S1ORT (Wil It STl 82
Options :

1. % fouRd 3T (SRS widien)

2. ¢ Y R (SIFRI WRie)

3. % gHIY I ((SWhisesd wrie)

4. % 3{fY THIH T (Hel fshlssd W)




Question Number : 251 Question Id
Orientation : Vertical

: 5038905685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which hormone is used in pregnancy test?

Options :
1. #* FSH
2. %% HCG
3. % PRL
4. ¥ ADH

Question Number : 251 Question Id
Orientation : Vertical

: 5038905685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

THTaRIT TRteor § fobg 1A &1 UanT fHar Sirar g2

Options :

1. % TWHUHTT (FSH)
2. ¢TI (HCG)
3. % UI3/RUd (PRL)
4. % USIUT (ADH)

Question Number : 252 Question Id
Orientation : Vertical

: 5038905686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which is the most common and abundant biological product on earth?

Options :

1. ¥ Cellulose
2. % Pepsin

3. % Amino acid

4. # Glycerol

Question Number : 252 Question Id

: 5038905686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gedl TR IS ST 7R TR A § Sifdes IeTa SI- 91 62
Options :

1. ¢ Jarl

2. % U

3. % THIA 3T

4. % fRId

Question Number : 253 Question Id : 5038905687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Exoskeleton of arthropods is made up of
Options :

1. # Protein

2. % Chitin

3. ®¥ Muscle

4. ¥ Skeleton

Question Number : 253 Question Id : 5038905687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JRfdls Fafeddd FTH8d gl
Options :

1. % UidH

2. ¢ BISEI (Chitin)

3. % O (@igushh

4. % HpIA

Question Number : 254 Question Id : 5038905688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which plant pigment is present in tomatoes?
Options :

1. # Carotene

2. % Xanthophylls

3. % Lycopene

4. % Phycobilins

Question Number : 254 Question Id : 5038905688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR § DI T qiYT Jufeh U SITdT 22
Options :

1. # W(Carotene)

2. % SR (Xanthophylls)
3.¢ mﬁ:{(Lycopene)

4. % BISHITGTA (Phycobilins)

Question Number : 255 Question Id : 5038905689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The are the compound lipids and they form the pigments of the animal and plant cells.
Options :

1. ¥ Carotenoids

2. % Chlorophyll

3. ¥ Xanthophylls

4. ® Anthocyanine

Question Number : 255 Question Id : 5038905689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN forfre & 3R 3 SHaRT 3R Qe Bt pIfRrep13N & qufes o1 fRafor w3 B



Options :

1. ¢ WT%_*I'IETS’ (Carotenoids)
2. % YUigid (Chlorophyll)

3. % S (Xanthophylls)
4. % TYNAAA (Anthocyanine)

Question Number : 256 Question Id : 5038905690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tail part of Chlorophyll molecule is made up of .
Options :

1. ¥ Phytol

2. % Porphyria

3. % 10 carbon bond

4. ¥ Hydrogen

Question Number : 256 Question Id : 5038905690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR HIUS R I aT gl
Options :

1. ¥ B

2. % URGIERAT

3. % 10 DHe Y

4. % GIIGIoH

Question Number : 257 Question Id : 5038905691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chemical name of Vitamin E is
Options :



1. # Calciferol
2. ¥ Tocopherol
3. # Riboflavin

4. * Thiamine

Question Number : 257 Question Id : 5038905691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faeTfer € o1 i AW &l
Options :

1. % HETBRIA (Calciferol)

2. ¢ DI (Tocopherol)

3. % SIS (Riboflavin)

4. % YTGIH (Thiamine)

Question Number : 258 Question Id : 5038905692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as traffic police of the cell?
Options :

1. ¥ Golgi body

2. % Lysosome

3. # Endoplasmic Reticulum

4. % Nucleus

Question Number : 258 Question Id : 5038905692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 ford SR &1 ¢fthe gfe & &0 H ST ST 82
Options :

1. ¢ Ticollh




UISHIEIS)

2. % TG (ASANIH)

3. % 3l ST (TSIweD Jepan)
4. % PIRB Bgd (Jd )

Question Number : 259 Question Id : 5038905693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characters is a dominant character?
Options :

1. ¥ Rolling tongue

2. # Fingers with no hair

3. # Attached ear lobes

4. % Folding tongue

Question Number : 259 Question Id : 5038905693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefera o @ I 707 T TTat 0 62
Options :

1. ¢ qeobdl oy

2. % fo7 STell arel Saferi

3. % AU HHE A

4. % qg oY

Question Number : 260 Question Id : 5038905694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the phenotypic ratio of incomplete dominance?
Options :

1.9 1:2:1



2. % 1/5:1/8:1/5
3. % R:2:2:1
4. % 4:2:1

Question Number : 260 Question Id : 5038905694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & § ool Uy &1 BeRfUE 3ud S T 82

Options :

1. 1:2:1

2. % 1/5:1/8:1/5

3. % 8:2:2:1

4. % 4:2:1
Discipline9

Group Number : 14

Group Id : 50389076

Group Maximum Duration : 0

Group Minimum Duration : 0
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Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890222
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 5038905695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A genetic disease due to the XXY karyotype is called-
Options :

1. # Equus caballlus

2. ¥ Klinefelter’s syndrome

3. ¥ Cry du chat syndrome

4. % Marasmus

Question Number : 261 Question Id : 5038905695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XXY 5 U (HICIST) & HRUI A arelt TR iRt Heard &-

Options :

1. % 3HY oAy

2. ¢ TS Thec RigH
3. % %% g de RigH
4. % TRIHY

Question Number : 262 Question Id : 5038905696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The position or place on a chromosome occupied by particular gene or one of its alleles is



Options :

1. # Location
2. # Position
3. % Locus

4. % Centromere

Question Number : 262 Question Id : 5038905696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreft fai o7 a1 ST gmfdeed & gRT URE TR 3ifIaTRyd == &l H8d -
Options :

1. % WIBM (RIM)

2. % Oifere (Rufa)

3. ¥ diod (fomguy)

4. % IR (OREAG)

Question Number : 263 Question Id : 5038905697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a x linked disorder?
Options :

1. # Hemophilia

2. % Colour blindness

3. ¥ Thalassemia

4. # Fragile X syndrome

Question Number : 263 Question Id : 5038905697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafofed # I &1 91 TR TURE-Uaw fAaR 81 82

Options :




1. % giApIfa

2. % =t

3.« AT

4. % HUSIR TG &0

Question Number : 264 Question Id : 5038905698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which antibody can pass from mother to foetus via the placenta?
Options :

1. ¥ 1gG

2. % IgA

3. % IgM

4. % IgD

Question Number : 264 Question Id : 5038905698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS (WRieT) & H1egd § S 1 ufaftis (Gsiah af § yur & o Yhdl 82
Options :

1. ¥ 1gG

2. % IgA

3. % IgM

4. % IgDh

Question Number : 265 Question Id : 5038905699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the founder or father of modern Palaecontology?
Options :

1. ¥ Cuvier



2. * Leonardo da Vinci
3. ¥ Watson
4. # John Playfair

Question Number : 265 Question Id : 5038905699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY SiarAfas A o) & YRS T TS DI 62
Options :

1. ¢ HIaR

2. % ferarst o fa=h

3. % dlcy-d

4. % S IR

Question Number : 266 Question Id : 5038905700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which represents the modern horse?
Options :

1. ¥ Equus

2. % Eohippus

3. % Pliohippus

4. ¥ Merychippus

Question Number : 266 Question Id : 5038905700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI YD °rg BT UfAfAfa Hal g2
Options :

1. ¢ Udhoq

2. % TIRWY



3. % @AWY
4. % TAOY

Question Number : 267 Question Id : 5038905701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Archaeopteryx was the connecting link between -
Options :

1. ¥ Reptile and Bird

2. # Fish and Amphibia

3. % Amphibia and Reptile

4. % Reptile and Mammal

Question Number : 267 Question Id : 5038905701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
313N & o deeRg ot
Options :

1. ¢ g SR ueft

2. % AT R IUTR

3. % IHTTR 3R WU

4. % TG 3R IO

Question Number : 268 Question Id : 5038905702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the vestigial organ of the human?
Options :

1. # Stomach

2. % Eye

3. % Skin



4. ¥ Coccyx

Question Number : 268 Question Id : 5038905702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad & & Ard &1 Sraist o S |1 8?
Options :

1. % O¢

2. % 3@

3. % oddl

4. ¢ RS (BRI

Question Number : 269 Question Id : 5038905703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists has proposed the Mutation Theory?
Options :

1. ¥ De Vries

2. # Lamark

3. ® Darwin

4. ¥ Mendel

Question Number : 269 Question Id : 5038905703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 fd aqme 2 Saady Rigid &1 uRamd faar g2
Options :

1. ¥ Sd

2. % G

3. % gIfdA

4. % TSd




Question Number : 270 Question Id : 5038905704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which pollutant is released from the refrigerator industry?
Options :

1. % CO,

2. ¥ CFC

3. ¥ NO,

4. % Fe

Question Number : 270 Question Id : 5038905704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AMFoRER TN Y I AT UGS Hdbadl g2
Options :

1. % CO,

2. ¥ CFC

3. % NO,

4. ® Fe

Question Number : 271 Question Id : 5038905705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frequency is denoted as

Options :

1. ¥ Hertz

2. % Decibel

3. ¥ Nanometer

4. % Sone



Question Number : 271 Question Id : 5038905705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3MgRI Bl ERSEEENRIS NI
Options :

1. ¥ BCol

2. % SRyTd

3. % SR

4. % GH

Question Number : 272 Question Id : 5038905706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Ganga Action Plan was launched in
Options :

1. % 1984

2. % 1985

3. ¥ 1986

4. % 1987

Question Number : 272 Question Id : 5038905706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B i (1 UaRH W) T e &1 g ot
Options :

1. % 1984

2. % 1985

3. ¥ 1986

4. % 1987

Question Number : 273 Question Id : 5038905707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Myotome muscle is present in

Options :

1. ¥ Fish

2. % Amphibia

3. # Reptilia

4. % Bird

Question Number : 273 Question Id : 5038905707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

snfeufods (@) Ut (@igoRt)  HANE el 6l
Options :

1. v U Hoail |

2. % IHTRH

3. % WU H

4. % el |

Question Number : 274 Question Id : 5038905708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of rectrices present in a pigeon is:
Options :

1.¥ 12

2. % 12 pair

3.% 24

4. % 24 pair

Question Number : 274 Question Id : 5038905708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP HER | [ [0S 8id 82




Options :

1. ¥ 12

2. % 1218
3.% 24

4. % 24GrS!

Question Number : 275 Question Id : 5038905709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mycobiont part of Lichen is

Options :

1. % Algae

2. % Fungi

3. ¥ Bacteria

4. % Rhizobium

Question Number : 275 Question Id : 5038905709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QT (T3P H HIBI-3T g -
Options :

1. % Qe

2. ¢ HAH

3. % qaifeE

4. % JgoNfegH

Question Number : 276 Question Id : 5038905710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Nutrient enrichment of water causes the natural aging of the lake. This is called?
Options :



1. ¥ Eutrophication

2. # Biomagnification

3. % Algae Bloom

4. # Accelerated Eutrophication

Question Number : 276 Question Id : 5038905710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O & UIYe dd AaeH S &1 TTpiad 39 9G4 &1 HRUT a1 ¢ | T§ HaT ST 82
Options :

1. ¢ gUIyoy

2. % O qEH

3. % RqTd YA

4. % IR gUoT

Question Number : 277 Question Id : 5038905711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sexual reproduction takes place through fusion of two gametes. These gametes can be flagellated and similar in size (as in Ulothrix) or non-
flagellated (non-motile) but similar in size (as in Spirogyra). Such reproduction is called -

Options :

1. # Oogamous
2. ¥ Isogamous
3. % Anisogamous

4. ¥ Gametophyte

Question Number : 277 Question Id : 5038905711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT S <1 D! & - 4 BIdT 8| T TS SR gad (Shaitora gad) TUT AT H THTH 81 Fohd & (oI JaTIeT) 31T aifora
g QB T AT aTd B Tohd § (S8 TISRITIERT) | T S ol FEd §

Options :




1. % RS
2. ¢ G D]
3. % EUGHD!
4. % GIDIG

Question Number : 278 Question Id : 5038905712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zygotes do not undergo reduction division immediately. They produce a multicellular body called a -
Options :

1. ¥ Sporophyte

2. % Gametophyte

3. % Antheridium

4. % Archegonium

Question Number : 278 Question Id : 5038905712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS R gAIHRUT AU 781 ToRd & | 3 Ueh IghIRIe g IRR o1 AT Hd € o Fed & -
Options :

1. ¥ WRIBTEC

2. % GIDIG

3. % Gyl

4. % TAYTH

Question Number : 279 Question Id : 5038905713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the phenomenon, where the living differentiated cells, that by now have lost the capacity to divide can regain the
capacity of division under certain conditions?

Options :
1. ¥ Dedifferentiation



2. % Differentiation
3. % Redifferentiated

4. % Divisioniated

Question Number : 279 Question Id : 5038905713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & O ge g, STgi shifad fanfed SRS, S 3 g [AHIRTId @3 @1 &1 Wl ! §, TS Udl & dgd [aHTSH B &l
DI J: T R Fehall o2

Options :

1. ¢ fAfdueT

2. % fayeq

3. % gAfgUfea

4. % fayrfora

Question Number : 280 Question Id : 5038905714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following helps in the swimming of spermatozoa, maintenance of water current in the canal system of sponges and in locomotion of
Protozoans like Euglena?

Options :

1. # Skeletal muscles
2. ® Striated muscles
3. % Visceral muscles

4. ¥ Flagellar movement

Question Number : 280 Question Id : 5038905714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad & 9§ &1 YEHToeT & a1, TS Bt 18R TUITel H 1 & HaTg &I S8 I8 3R AT ol UIelsilaH &1 71fd # Hag HRdl 82
Options :

1. % Sl URM (Skeletal muscles)




2. % Ufwsep URMT (Striated muscles)
3. % Terep-1t OfRmm (Visceral muscles)
4. HYHIDT IR (Flagellar movement)
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Question Number : 281 Question Id : 5038905715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The primary stage extends from Class I to Class —
Options :

1. ®# 1V

2.9V

3. % VI

4. % VII

Question Number : 281 Question Id : 5038905715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS RUBLTIGHET_ dh ol
Options :

1. % 1V

2.9V

3. % VI

4. % VII

Question Number : 282 Question Id : 5038905716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Computer Literacy and Studies in Schools (CLASS) project was introduced in the —
Options :

1. *= early 60s

2. % early 70s

3. ¥ early 80s

4. = early 90s

Question Number : 282 Question Id : 5038905716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HER fere Tl U wStel 7 Whedl (CLASS) TR dhi Y31 EEIRINIR




Options :

1. % 60 % GRID DI PSS
2. % 70 & GRID B YT
3. ¥ 80 o GRTDH Bl YB3
4. % 90 P GRIH B YLHATA

Question Number : 283 Question Id : 5038905717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was EDUSAT launched?
Options :

1. % 2002

2. % 2003

3.9 2004

4. % 2005

Question Number : 283 Question Id : 5038905717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSYC (EDUSAT) ®! foh oy @l fovarm 7t U2
Options :

1. % 2002

2. % 2003

3.9 2004

4. % 2005

Question Number : 284 Question Id : 5038905718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect?



1. Studies have shown that girls in the same class get science education different from boys
2. Science textbooks and science teachers, like others, are not free from gender bias.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 284 Question Id : 5038905718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEffed & & & 91 Sy TTed &7

1. 3T T UdT e @ b U 8 e | defeal o fage o) e dso! T s fiedt @
2. fogm ot ureugRad SR fas & Rieies, TRl &t kg, 7 gatue 3§ god e § |
Options :

1. % had 1

2. % DHad 2

3. % QM1 8IR 2

4.4 A1 RAGI2

Question Number : 285 Question Id : 5038905719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of a teacher related to class and classroom teaching?
Options :

1. ¥ Maintaining records of pupils’ attendance

2. % Planning for curricular and co-curricular activities

3. # Evaluating the achievement of pupils

4. ¥ Always scold the students to maintain strict discipline

Question Number : 285 Question Id : 5038905719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ i wem 3R Fear Rremr § Tefid Ries o1 o 781 82
Options :

1. % foenffal ot SufRufa o1 Rl T

2. % TSl 3R Tg-UTedshH TAfaf &t T a1

3. % foeniial o1 Iuafes 1 gedied

4. ¢ TX IR §1Y TG & o8 gHRI ST ol Sic

Question Number : 286 Question Id : 5038905720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which method is the whole class divided into different homogeneous small sections on the basis of abilities so that teacher can remove their
difficulties by giving them individual guidance?

1. Demonstration method
2. Tutorial method

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 286 Question Id : 5038905720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore fafd & O e &1 IFaaT & SMUR TR S{THT-31ET Folcid BIc 3Tt | fquIford foar Srdn § difes e safaaid AnfaRM gax 3!
DSl Bl g HR Jh?

1. 9&xH fafd

2. IR fafe

Options :

1. % 5dd |

2. ¥ Had 2



3. % gHf 1 3R 2
4. % Fd11 3R 2

Question Number : 287 Question Id : 5038905721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is known as the exponent of the Question-answer method of teaching?
Options :

1. # QGalileo

2. ¥ Socrates

3. % Newton

4. # Dewey

Question Number : 287 Question Id : 5038905721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreror &t Uy-3TR vl & wfures & T H B S 9 82
Options :

1. % Trefiferan

2. ¥ hId

3. % Ycd

4. % Sdt

Question Number : 288 Question Id : 5038905722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, all the students are given a problem. All the students work on the problem individually in order to solve it. They bring their solutions
in written form. They present their views in the class one by one and the other students listen to these attentively to criticize them later on.

Which of the following methods of teaching has been described?
Options :
1. #* Drill method



2. ¥ Seminar
3. # Brain Storming

4. # This is not a teaching method

Question Number : 288 Question Id : 5038905722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s &l H, Gt T BT T U= < STt 8 | gHT BT TH B 8 R b o7 AT U J IH W BTH HId 8 | 9 30 JHI
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Options :

|, % fgo fafe

2. ¢ YAR

3. % 9 W

4. % U5 U e ugfa T 8

Question Number : 289 Question Id : 5038905723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A biology-teacher can give which of the following types of home-works?

1. Informational
2. Problematic

Options :

1. % Only 1

2. % Only 2

3.4 Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 289 Question Id : 5038905723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS Sitd fogm-Riere Fufafea # 9 fg UeR & Teard ¢ 96bdl /2

1. QTS
2. ARG

Options :

1. % $Had |

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE2

Question Number : 290 Question Id : 5038905724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kilpatric is the investigator of which teaching-strategy?
Options :

1. ¥ Project method

2. # Discovery method

3. % Heuristic method

4. # Role playing method

Question Number : 290 Question Id : 5038905724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forerafes forer RremIIorifa & o 82
Options :

1. ¢ URAISH fafe

2. % QI fafy

3. % 3{qal fafg

4. % yftyept fAvm fafyr

Question Number : 291 Question Id : 5038905725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A biology-teacher wants to give home-work to her students. Which of the following thoughts should she not entertain while giving the home-
work?

Options :

1. ® Home-work should be such that it increases the rate of learning further

2. % Home work should be somewhat challenging to the students also

3. ¥ Home work should be time-consuming, so that the students don’t get any free-time at home

4. ® Home works given to students should be based on their class work

Question Number : 291 Question Id : 5038905725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH oiid faq-RfreT s faenfial o Te-ord &1 dredl § | Tear od wHa 39 Fgfaiad & ¥ forg faar W @ =gt ¢ anfewe
Options :

1. % P U1 g1 A1 For ) Rem & &R 31k 9 ©IY

2. % B & g Wt Teerd B gAY g1 =Y

3. ¥ 8 B0 H S JHY T A1eT, difch ST &1 OR R Weht 9Hg 7 fid

4. % BE B AT TH 1A T8 FT 3% B BT F 3MYR R g7 7MY

Question Number : 292 Question Id : 5038905726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods establishes a student’s mastery level?
Options :

1. ® Gloom’s mastery learning strategy

2. % Albert’s mastery learning strategy

3. ¥ Bloom’s mastery learning strategy

4. ® Garrett’s mastery learning strategy

Question Number : 292 Question Id : 5038905726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T/ B HERd IR &1 JUHITA

2. % 3fedd Bl HERA ARG Hi UM

3. ¥ &IH ] HERd g &1 0T

4. % TE D AZRd IRG &1 0T

Question Number : 293 Question Id : 5038905727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage, science should be introduced as separate disciplines with emphasis on experiments/technology and problem solving?
Options :

1. ¥ Higher secondary stage

2. % Secondary stage

3. % Upper primary stage

4. % Primary stage

Question Number : 293 Question Id : 5038905727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore =Ror & faq 1 wa/ et 3R THT TH1M WR SR S U SferT-3feT fawdl & w0 § U1 faar ST =nfew?
Options :

1. ¢ IR HIHHD =IR0T

2. % HIeH(HD IR0

3. % I Ui <RI

4. % JYfiep TRUT

Question Number : 294 Question Id : 5038905728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should be done to remove gender-disparity in science education?



1. The curriculum should strive to make the contribution of women to the field of science and technology ‘visible’.
2. Studies should be undertaken to understand how gender bias operates in schools both within and outside the classrooms

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 294 Question Id : 5038905728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % &Had 1

2. % Had 2

3.9 Q1 3R 2

4. % FdN1 MR 2

Question Number : 295 Question Id : 5038905729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should not be a personality trait of a teacher?

Options :

1. % A teacher has to be very active in and outside the class in the school which requires sound physical health
2. % A teacher should not be hasty in his habits

3. # A teacher should be amiable and friendly in his behaviour

4. ¥ A teacher should not take risk of experimenting with his teaching strategy

Question Number : 295 Question Id : 5038905729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafifaa § 3 & T Riee o1 afdda dem T8l g1 e

Options :

1. % U e DI [aaTerd & B & 3iaR 3R a8 9gd Wihd Y81 Usdl ¢ ford iy iy IRING W &1 3avgdhdl skl g |
2. % TP e P 3UHT Tad! H Sleaaroll gl H- AT

3. % To RIed oI 307 JagR H fHa R g1 amfet

4. ¢ U R1&P B 301 FR1&f071 YU o F1 TR o bl SRIH g1 S MU

Question Number : 296 Question Id : 5038905730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many Indian students perform very well in formal / scholastic tests, but relatively few make it to the grade of truly outstanding researchers or
original thinkers. What can be the reason for this?

Options :

1. ¥ Science education in India at its best develops competence, but does not encourage inventiveness and creativity

2. % Science education in India at its best develops creativity, but does not encourage competence and inventiveness

3. % Science education in India at its best develops inventiveness, but does not encourage inventiveness and competence

4. % Science education in India does not develop competence or inventiveness or creativity

Question Number : 296 Question Id : 5038905730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YRd H fagm e s gafaw U # &mdr fasRid ot 8, dfee sifaseReNadr $iR Te-Tdsdl & tidifed T8t ®idt &

2. % YRA H fag7= freim s gafad 0 § Te-Tdedl B fapRid ol 8, Afd &dT 3iR ISR &) tidifed 78! ®idl &

3. % YRA H I e 3a gaiow w0 § snfassReiierd o fasRid s 8, dfc nfaspRaierar 3iR &dl &) Uidfed Tel Bdl 8
4. % YRa ¥ fagm fRren emar a1 snfaseRefaar a1 TeTewmdr &1 fdeTg T8l Bt &

Question Number : 297 Question Id : 5038905731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who is considered as the Father of Microbiology?
Options :

1. ¥ Antonie van Leeuwenhoek

2. ®% Robert Hooke

3. % Robert Brown

4. ¥ Theodor Schwann

Question Number : 297 Question Id : 5038905731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 298 Question Id : 5038905732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using non-formal channels in our education system and specially in science will increase —
Options :

1. # Indiscipline

2. ¥ Creative learning

3. % Concentration among students

4. ¥ Unattentiveness among students

Question Number : 298 Question Id : 5038905732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SRl

2. ¢ TIATHD TRef

3. % B & o THRIT

4. % BEIH I

Question Number : 299 Question Id : 5038905733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Training is only a specialized part of teaching

2. # An idealist society gives importance to teaching while a pragmatic society gives importance to training
3. # Skill is developed through teaching while knowledge is imparted through training

4. # The word training refers to moulding of habits

Question Number : 299 Question Id : 5038905733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Tfreqor had freror o7 U Al fewa 3

2. % e 3efard) g R0 B Hed 3T § Sah Teb TR TS TS0 ) 7 ell 3
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Question Number : 300 Question Id : 5038905734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Education can be:



1. Formal
2. Informal

Options :

1. % Only 1

2. % Only 2

3. ¥ Both 1 and 2
4. # Neither 1 nor 2

Question Number : 300 Question Id : 5038905734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

1. % &Had 1

2. % Had 2

3. Al 1 3R 2

4. % FdN1 MR 2



